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Question Number : 1 Question Id : 59445934537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

HBB,JDD,  ,NHH
Options :

A. * KFF

B. ¥ LFF

C. * LEE

D. # MGG



Question Number : 1 Question Id : 59445934537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad sieR gaea & g« g 1 H:

HBB,JDD,  ,NHH
Options :

A. #* KFF

B. ¥ LFF

C. # LEE

D. # MGG

Question Number : 2 Question Id : 59445934538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

D2F, G4,  ,M2560
Options :

A. % J32K

B. ¥ J16L

C. % KI6L

D. ® K24J

Question Number : 2 Question Id : 59445934538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad sieR gaar & g Ug 31 H:

D2F, G41, , M2560
Options :
A. * J32K




B. ¥ J16L
C. # KlI6L
D. ® K24J

Question Number : 3 Question Id : 59445934539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

A. % KJIHG
B. ¥ ZYXWV
C. % SRQPO
D. ¥ CDEFG

Question Number : 3 Question Id : 59445934539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawed & 9 & Te Ay e 3 90 § | 810D, Uh [Awed 31 19 &1 dve 7ol ¢ | 34 [dded &1 78 B oIl 3 4 3T g
Options :

A. * KJIHG

B. # ZYXWV

C. % SRQPO

D. ¥ CDEFG

Question Number : 4 Question Id : 59445934540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
A. ¥ ABC:XYZ



B. # DEF:UVW
C. = GHIL:RST
D. ¥ JKL:MNO

Question Number : 4 Question Id : 59445934540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawed & 9 & Te [y e & 90 § | 8TalD, Uh [Awed o1 i &1 dve ol ¢ | 34 [dded &1 78 B oIl 3 ¥ 3T g
Options :

A. = ABC:XYZ

B. # DEF.UVW

C. # GHI:RST

D. ¥ JKL:MNO

Question Number : 5 Question Id : 59445934541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

AGM : WCI :: DOV : ?
Options :

A. ¥ ZKR

B. # YKS

C. % AKR

D. ®* EPW

Question Number : 5 Question Id : 59445934541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHeT BT 997 B S ik UG ¥ 341 UHR ¥ Yafdd g o JhR ¥ 3R UG Ugd Ug ¥ Hafed g

AGM : WCI :: DOV : ?
Options :




A. ¥ ZKR
B. # YKS
C. # AKR
D. ¥ EPW

Question Number : 6 Question Id : 59445934542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

BDFH : AEEI :: ?
Options :

A. % GHIJ : FIIK

B. ¥ LPRT : KQQU
C. # LNPR : MMQQ
D. # ZXVT : TUUZ

Question Number : 6 Question Id : 59445934542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT T B o Uy H < 1S TS A A UBR I Tafd 3|

BDFH : AEEI :: ?
Options :

A. # GHIJ : FIIK

B. ¥ LPRT : KQQU
C. ¥ LNPR : MMQQ
D. # ZXVT : TUUZ

Question Number : 7 Question Id : 59445934543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a certain code, 'lip tis ruf' means "radish are peas", "kit din" means "onions tomatoes", and "tis tam din" means "onions are tasty", then what
will be the code of "tasty"?

Options :
A. # tis
B. ¥ tam
C. # din
D. # kit

Question Number : 7 Question Id : 59445934543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh BIEGEIE] ff, lip tis ruf' Il G{ﬁ% "radish are peas", "kit din" P G{ﬁ% "onions tomatoes", 3R "tis tam din" BT G{Qf% "onions are tasty", ar
"tasty" T HIS T I 2

Options :

A. # tis

B. ¢ tam

C. # din

D. # kit

Question Number : 8 Question Id : 59445934544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
A. % 339
B. % 273
C. % 791
D. ¥ 644

Question Number : 8 Question Id : 59445934544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & ¥ o U M3 aRich ¥ 9HH 8 | gTallich, U [dahed o A &1 k6 -Tal 6| 3% [Adhed HI Ia- Hx off 30 J 3T |
Options :

A. # 339

B. ¥ 273

C. % 791

D. ¥ 644

Question Number : 9 Question Id : 59445934545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akshay is taller than Rohan but shorter than Subham. Nishant is taller than Akshay but shorter than Madhvan. Subham is taller than Nishant but
shorter than Madhvan. Who is the tallest among all?

Options :

A. ¥ Madhvan
B. ¥ Subham
C. # Nishant
D. # Akshay

Question Number : 9 Question Id : 59445934545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{efg e T a1 § IRg gHH I BleT 5 | FA=Iid 31era T da § IReg H1ea- § Biel g | YU, F=iid O dar 8 R Jda- A Sier g | Gt &
T Al B 82

Options :

A. ¢ TS

B. ¥ gYA

c. ® faid

D. # 31&/T

Question Number : 10 Question Id : 59445934546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Arrange the words in a meaningful sequence :

1. Victoria memorial
2. Asia

3. Kolkata

4. India

5. West Bengal

Options :

A. * 54312
B. % 12453
C. ¥ 13542
D. #* 34521

Question Number : 10 Question Id : 59445934546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vs & Iifeh pH H TafRUd By

1. faeeian Aaifaa

2. ulRmEn

3. HIABI
4. YRd

5. i &
Options :

A. % 54312
B. ¥ 12453
C. v 13542
D. # 34521

Question Number : 11 Question Id : 59445934547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement



is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statement.

Statement I : All chairs are tables.
Statement 11 : All tables are furnitures.
Statement 111 : All furnitures are wooden.

Conclusion :
I) All chairs are wooden.
IT) Some furnitures are chairs.

Options :

A. # Only I follows

B. ¥ Only II follows

C. ¥ Both I and II follows
D. # Neither I nor II follows

Question Number : 11 Question Id : 59445934547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AUy A, I By fou T8 g e 918 3l feet 1 31 11 fau 17 § | 98 A1d g o oy & §aft oel 9 &, <1 s sl o1 U 11y
fIRaIyor HX SR FuiRa B [ 1 HY= T < 715 TR § ¥ B off difhe w0 F 3R Fid ©U I 38R0 SR g |

HY 1 g pRIGT AT B
HYF 11: IH I BFR § |
Y 111: G BHRR At & &

o R T 7 3
n9 : |
II) $S Wik R g |

Options :

A. % Had | IR BT §

B. ® %I II 3RV Hdl 8

C. ¥ 1 3R 11 G S{I¥RUI HRd §
D. ¥ 1 3R T8I I IRV Hdl &




Question Number : 12 Question Id : 59445934548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the
statements are true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.

Statement I: All porcupines are toad.
Statement II: No toad is a fox.
Statement I11: All foxes are vultures.

Conclusion I: Some foxes are porcupine.
Conclusion II: No vulture is a toad.

Options :

A. # Only I follows

B. ¥ Only II follows

C. # Both I and II follows
D. ¥ None follows

Question Number : 12 Question Id : 59445934548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A YUY H, I By fou T8 g S a1g 3l Free 1 31 11 fau 77 § | 98 Ad g o oy & aft oel 9 &, <1 sl 1 U A1y
fazayor &% SR et B3 f6 31 &= o &) 112 SHeR 7 ¥ 18 off difhes 0 § iR A ©u § S aRu R |

B 1 g 4R I 9 (@) 7
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Options :

A. % Had [ T80 BT S

B. % adl 11 IERUI HI1 &




C. % 1 3R 11 ST IR0 PR 7
D. ¥ Pig ARV el BT 8

Question Number : 13 Question Id : 59445934549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sports teacher of St Mary's school went to the market to fill his stocks before the new session. He spends a total of Rs 580 at the store. If the
cost of a cricket ball is Rs 12 whereas the cost of a table tennis ball is Rs 20; how many cricket balls did he purchase?

Options :
A %11
B. ¥ 10
C.#* 13
D. * 14

Question Number : 13 Question Id : 59445934549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Je T faenay & W e 9U 99 T Ugd 301 Tdh 4R §I6IR T ¥ | 98 g IR $dl 580 TUU Wd HRd g | A fobdbe 7ig &1 4 12
TUU § S dael 2 71 1 §ed 20 4T &; I fbat fpabe 713 @il

Options :

A %11

B. ¥ 10

C. % 13

D. % 14

Question Number : 14 Question Id : 59445934550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
A. % 121



B. * 196
C. * 169
D. ¥ 244

Question Number : 14 Question Id : 59445934550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T fawed & 9 & Te A e 3 90 § | 8TalD, Uh [Aded 31 19 &1 dve ol ¢ | 34 [dded &1 T8 B Sl 37 I 3T |
Options :

A. = 121

B. # 196

C. % 169

D. ¥ 244

Question Number : 15 Question Id : 59445934551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number which is common to all the three figures.

Options :
A %2
B. #5
C. %8
D. ¥ 7

Question Number : 15 Question Id : 59445934551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

I8 T 1 B3 S 41 3Mepfadl § SHAFY B

f o]
1 ; /
7
A 5
B
Options :
A %2
B. %5
C.#38
D. ¥ 7

Question Number : 16 Question Id : 59445934552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between students, intelligent and naughty?
Options :



C.¥

QO

D. #

Question Number : 16 Question Id : 59445934552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafaa §  &F 1 39 R IE, FGAM 3R IRRAT & §9 F JaY BT Ja 33T Ui BT 82

Options :

A ®



Question Number : 17 Question Id : 59445934553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there is a certain relationship in between figure A and B. Find the figure from the option which bears the same
relationship with figure C.

ol ™\

=
vy)



Options :

[
Pl
A

Question Number : 17 Question Id : 59445934553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa Uy & smefa A 8fR B & g T [Afdd Jaiy g1 faded & 9 a8 S1afd I1d & o P C & 1Y JHH e I\t 2 |




Options :




Question Number : 18 Question Id : 59445934554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
A #
+ + ’
B. #
C.¢
D. #




Question Number : 18 Question Id : 59445934554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faw e fywedt & § It fAfd 38 g B gTaifes, T fashen o ofiF o1 ave 781 8 | 3 fadhey &1 9 &3 o 3T 3T g

Options :




D. #

Question Number : 19 Question Id : 59445934555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the mirror image of the following question figure.

A prrrrrrrrrTTITT B

Options :




C. #

Question Number : 19 Question Id : 59445934555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiaa uy snefa o1 gdu ofa J/a B9

A prrrrrrrrrrrrrrrTeT B

Options :



C. #

Question Number : 20 Question Id : 59445934556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is embedded?



IE



Question Number : 20 Question Id : 59445934556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 7S IR 3T T, I THIA BT Ig9 B3 for s U 31pfa ARk B

el

Options :

Q_




C. %
D. #
General Awareness
Group Number : 2
Group Id : 594459747
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 5944591469
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591700
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445934557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The translucent white marble used in Taj Mahal was brought from which of the following states?
Options :

A. # Kerala

B. ¥ Rajasthan

C. % QGujarat

D. * Tamil Nadu

Question Number : 21 Question Id : 59445934557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dregd B Ugad YRYR Jthe SRR Fafalad O 9 fog s 9 arn am o
Options :




A. % B
B. ¢ oI

C. % ORI
D. # AW g

Question Number : 22 Question Id : 59445934558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following folk dances is associated with Tripura?
Options :

A. # Jhora

B. # Raut Nacha

C. ¥ Hojagiri

D. * Kolkali

Question Number : 22 Question Id : 59445934558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafad 5 3 & 91 die T B 4 Heifdd g2
Options :

A. % R

B. ¥ [3d A

C. ¥ BIOMIR

D. ¥ BHlcichdl

Question Number : 23 Question Id : 59445934559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following ministries has been allocated the highest amount in the Budget 2021-22?
Options :

A. ¥ Ministry of Defence



B. # Ministry of Consumer Affairs, Food & Public Distribution
C. # Ministry of Home Affairs
D. # Ministry of Rural Development

Question Number : 23 Question Id : 59445934559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o I fog ey o) 991 2021-22 & Ja9 31f¥e R sdfed ot 718 82
Options :

A. ¥ T AT

B. % JIUHIdT A, WMeI 3R Jrdoif—e faarur damer

C. ® T[g HATTY

D. % Y01 fddhr HATe

Question Number : 24 Question Id : 59445934560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the year 1980, how many private banks were nationalised?
Options :

A %8

B. # 10

C. %12

D. ¥ 6

Question Number : 24 Question Id : 59445934560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ay 1980 #, fara1t ol st o1 APl faba 7 Y
Options :

A # 8

B. # 10



C.#* 12
D. ¥ 6

Question Number : 25 Question Id : 59445934561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states Hazaribagh National Park is located?
Options :

A. # Tamil Nadu

B. #¥ Uttar Pradesh

C. % Assam

D. ¥ Jharkhand

Question Number : 25 Question Id : 59445934561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafiRed & @ forw o & soRiarT gt 3a fRud 82
Options :

A. % qied g

B. ¥ JWR U

C. = 34H

D. ¥ RYUsS

Question Number : 26 Question Id : 59445934562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of bacterial disease?
Options :

A. * Polio

B. # Ebola

C. ¥ Typhoid



D. # Hepatitis C

Question Number : 26 Question Id : 59445934562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad & | & SfiaTu] 0T &7 ISR 32
Options :

A. % Tiferan

B. % Sqlcll

C. ¢ 3SR

D. ¥ gUcrsiey I

Question Number : 27 Question Id : 59445934563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kiel Canal lies between Baltic Sea and North Sea ports. It is in
Options :

A. * Russia

B. # France

C. # Vietnam

D. ¥ Germany

Question Number : 27 Question Id : 59445934563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B TR difecd IR 3R IR PR e8! & s RT3 1 I8 A fRa gl
Options :

A. ® XY

B. # To[g

c. # fogaam

D. ¥ SHAT




Question Number : 28 Question Id : 59445934564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is incorrect?
Options :

A. % Barley is a Rabi crop.

B. # Wheat is a Rabi crop.

C. # Bajra is a Kharif crop.

D. ¥ Mustard is a Kharif crop.

Question Number : 28 Question Id : 59445934564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad § ¥ o9 91 HY= Tad 82
Options :

A. % ST 3 B U B

B. ¥ g Xl & U g

C. * TR WD DI HIA 5|

D. ¥ IR WAH P! B g

Question Number : 29 Question Id : 59445934565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India's first railway line which ran between Mumbai and Thane was opened in
Options :

A. #1862

B. ¥ 1853

C. #1871

D. # 1868

Question Number : 29 Question Id : 59445934565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

s 3R 370 & ofiF Ia- aTcl URA Pt UgaiYad ared A @ 8 ot
Options :
A. % 1862
B. ¥ 1853
C. % 1871
D. ¥ 1868

Question Number : 30 Question Id : 59445934566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following presided over the Amritsar session of Indian National Congress of 1919?
Options :

A. # Lala Lajpat Rai

B. # Jawaharlal Nehru

C. % Dadabhai Naoroji

D. ¥ Motilal Nehru

Question Number : 30 Question Id : 59445934566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferiRad H A fobd 1919 & HRAR AP B D SHTER UII BI A& BI?
Options :

A. # Il dNSYd 1T

B. ¥ S[ATERAd Hee

C. ® TIaTYTS RIS

D. ¢ HldIdd d8%=

Question Number : 31 Question Id : 59445934567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Young Bengal Movement (1826-1832) was established in Calcutta by
Options :

A. ¥ Henry Vivian Derozio
B. # Warren Hastings
C. # William Bentinck
D. # William Wedderburn

Question Number : 31 Question Id : 59445934567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g1 STTE HTGIa (1826-1832) BT AT Heldhl H FANEIRIERIT

Options :

A. ¢ g1 fafaoa fefssh
B. % gRA g™

C. % fofergm afew

D. % faferaw aved

Question Number : 32 Question Id : 59445934568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
No Spin: My Autobiography' is the book written by

Options :

A. # Sachin Tendulkar
B. ¥ Shane Warne

C. # Virender Sehwag
D. #* Anil Kumble

Question Number : 32 Question Id : 59445934568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CINTCE AR R CIRIP Y g1 {718 g&ieb 9 |



Options :

A. % g dgaax
B. ¥ QA diA

C. % 4= ggam
D. # 3fd Hpad

Question Number : 33 Question Id : 59445934569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following films won the Best Film (Jury) award at the 11th Dadasaheb Phalke Film Festival 20217
Options :

A. # Tanhaji : The Unsung Warrior

B. # Ludo

C. # Thappad

D. ¢ Jungle Cry

Question Number : 33 Question Id : 59445934569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead o 9 fod feer A 119 GIaRd Bidd fherd TARIE 2021 H YIS fhed (S &1 REBR Siar
Options :

A. % TIUGTSIT: & 3T aTRTR

B. % gl

C. ® yug

D. ¥ ST 15

Question Number : 34 Question Id : 59445934570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ministry of recently launched the Gender Samvaad Event, a joint initiative between Deendayal Anthodia Yojana National
Rural Livelihood Mission (DAY-NRLM) and Initiative for What Works to Advance Women and Girls in the Economy (IWWAGE).

Options :



A. ¥ Rural Development

B. # Education

C. # Home Affairs

D. # Health and Family Welfare

Question Number : 34 Question Id : 59445934570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T = BT 81 H GHGaTd Scied Aol JIST AT STeiiadT iR 3R sHRiefed BR Bie aRi ¢ tsary gud U T
G SHHH & dld Ygad Ugd, Slex Idlg 3d¢ ol 3T Bl
Options :
A. ¢ I fabrg
B. % fRref
C. % Tg
D. % WY Td URAR BTl

Question Number : 35 Question Id : 59445934571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ministry of Tourism (MoT) signed a Memorandum of Understanding (MoU) with Online Travel Agents on 15th April
2021 to strengthen the hospitality and tourism industry amidst the coronavirus pandemic.

Options :

A. ¥ MakeMyTrip and Goibibo

B. # Ease My Trip and Goibibo

C. # MakeMyTrip and Cleartrip
D. ¥ Cleartrip and Ease My Trip

Question Number : 35 Question Id : 59445934571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % O 15 fog SR mefaa
B. ® 3o/ A1E foU SR Mfaat
C. % AHUReY 3R fFmriRy
D. ¢ fFamRfey iRk gt Ara feu

Question Number : 36 Question Id : 59445934572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India has been ranked at position in the Energy Transition Index- ETI, according to the report released by World Economic Forum
(WEF) on 21st April 2021.

Options :

A. ¥ 87th
B. # 68th
C. # 92nd
D. * 76th

Question Number : 36 Question Id : 59445934572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

21 30 2021 & fay i Ta (WEF) gRT SR RUIE & YR, SHoif GhHUl Gadhid § HRd 6l R fear m gl
Options :

A. ¥ 87d]

B. # 68d]

C. ¥ 92q(

D. % 764l

Question Number : 37 Question Id : 59445934573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The feature of 'Impeachment of President' in the Indian Constitution is borrowed from the Constitution of
Options :



A. ¥ Germany

B. # Japan

C. ¥ United States of America
D. # Australia

Question Number : 37 Question Id : 59445934573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ffde™ & ryufc A1t &1 fa=ivdr & & ey ¥ IJUR forn gl
Options :

A. % SEAR

B. ® SIUMH

C. ¢ g I AR

D. % 3fifern

~

Question Number : 38 Question Id : 59445934574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 371 B deals with the special provisions with respect to which of the following states?
Options :

A. ¥ Assam

B. # Manipur

C. # Andhra Pradesh

D. # Sikkim

Question Number : 38 Question Id : 59445934574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fw5¢ 371 B AafaRad o ¥ fy o9 & deiy 7 faxiy urayi @ deferd g2
Options :

A. ¥ AHYH



B. ¥ AR
C. % 3T US
D. # fewH

Question Number : 39 Question Id : 59445934575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Former Sri Lanka player and coach, Nuwan Zoysa has been recently banned from all forms of cricket for years after an [CC Anti-
Corruption Tribunal found him guilty of breaching the ICC anti-corruption code.

Options :
A. # four
B. # eight
C. # ten
D. # six

Question Number : 39 Question Id : 59445934575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ficiT & Jd fRIara! 3R ®id, Ja SioT &1 g1 gt d auf & forg fpbe & Tt =l T ufasferd o= fear mar o, 19 icc &
YVTAR-IAET B0 A I8 [CC F YFRIR- Afgdl o1 HiT B3 BT aIST U ol

Options :

A % TR

B. # 3{[d

C. % g

D. ¥ 9%

Question Number : 40 Question Id : 59445934576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Portuguese Grand Prix 2021?
Options :

A. ¥ Lewis Hamilton



B. # Max Verstappen
C. # Lando Norris

D. # Sergio Perez

Question Number : 40 Question Id : 59445934576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea & § foeem gemen 3 fe 2021 S
Options :
A. ¥ T4 gitree
B. % A @A
C. % el ARy
D. % Tforl e
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59445934577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the least number that should be multiplied to 1024 to make it a perfect cube.
Options :

A %2

B. ¥ 4

C. %8

D. # 16

Question Number : 41 Question Id : 59445934577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=IIqH T I X FoR YUl T8 -1 o fTd 1024 3 T[0T foaT ST AfR |
Options :

A %2

B.¥ 4

C. %38

D. *® 16

Question Number : 42 Question Id : 59445934578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the decimal equivalent to the square root of the number whose binary representation is 11001007
Options :

A ® 8

B.* 9

C.¥ 10

D. * 11

Question Number : 42 Question Id : 59445934578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS H1 T o RIS GIAAT o1 § TordenT gareRy Ui 1100100 g2
Options :

A * 8

B. ® 9

C.¥ 10

D. # 11

Question Number : 43 Question Id : 59445934579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40 people went out for a picnic. 36 of them pay Rs 1700 each to contribute towards the cost. The other four pay 50% more than the average
expenditure of the picnic. Find the total amount spent.

Options :

A. ¥ Rs 72000
B. # Rs 75000
C. % Rs 90000
D. # Rs 81000

Question Number : 43 Question Id : 59445934579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3HfIFH YT fohaT | W Bl T Ha 1A J1d Br |
Options :

A. ¢ 72000 $UY

B. ¥ 75000 39T

C. % 90000 3TT

D. ¥ 81000 ¥UT

Question Number : 44 Question Id : 59445934580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X bought pencils worth Rs 250. Rs 9 was spent on sales tax which is 15% on the selling price of taxable items. What is the total cost of the tax-
free items?

Options :

A. ¥ Rs 181
B. # Rs 161
C. ®# Rs 171
D. # Rs 175

Question Number : 44 Question Id : 59445934580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Xﬁésowﬁﬁﬁﬁ@ﬂ'ﬁlﬁﬁmm9w@émwﬁﬁﬁ?muﬁmaﬁaﬁéﬁﬁq§qw15%%|W-5<m qE 31 B! Hd AN
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Options :

A. ¥ 181300

B. # 161 ®¥UUQ

C. ®# 171%UUd

D. # 175%UU¢

Question Number : 45 Question Id : 59445934581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



4 OS] BT 40 BT B YT a1 THR HaM & IRl DI H T Y 5 UHR ST 77 8 b 3 Th G B had @ 9 | OS] gRT Wi A fpy
T A% d BT U< I B (22+7 = 3.14 R faaR &%)

Options :

A. ¥ 21.50%

B. # 10.75%

C. % 22.50%

D. % 11.25%

Question Number : 45 Question Id : 59445934581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 horses are tied with a rope to four corners of a square field of side 40 feet such that they can just touch each other. Find the percentage of area
untouched by the horses.

(Consider 22+7 = 3.14)
Options :

A. ¥ 21.50%

B. # 10.75%

C. % 22.50%

D. # 11.25%

Question Number : 46 Question Id : 59445934582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

36 articles were bought for Rs 24 and 24 articles were sold for Rs 36. Find the profit percent.
Options :

A. * 100%

B. ¥ 125%

C. #® 133.33%

D. * 150%

Question Number : 46 Question Id : 59445934582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. #® 100%

B. ¥ 125%

C. % 133.33%

D. # 150%

Question Number : 47 Question Id : 59445934583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the 1 effective discount equivalent to 3 discounts of 20%, 25% and 40%?
Options :

A. = 48%

B. # 55%

C. # 60%

D. ¥ 64%

Question Number : 47 Question Id : 59445934583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20%, 25% 3R 40% HI 3 FC &b SRISR 1 YT FT FT 7?2
Options :

A. # 48%

B. # 55%

C. % 60%

D. ¥ 64%

Question Number : 48 Question Id : 59445934584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A, B & C have Rs 3000, Rs 4000 & Rs 5000 respectively. They buy the same product priced at Rs 2000 for 25%, 30% and 45% discount. Find
the proportion of money left with them respectively.

Options :

A. *# 5:9:13
B. # 1:2:3

C. ¥ 15:26:39
D. # 3:6:8

Question Number : 48 Question Id : 59445934584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C & U HHRT: 3000 ¥UT, 4000 ¥UT 3R 5000 ¥UTY | § THH SETE BT 2000 TIT P AN TR 25%, 30% 3R 45% P G W
Ted g | U I U QY & BT JHUTT 1d B |

Options :

A. * 5:9:13

B. % 1:2:3

C. ¥ 15:26:39

D. # 3:6:8

Question Number : 49 Question Id : 59445934585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W, X, Y and Z share profits in the ratio of 5:6:9:12. If X and Y receive Rs 45000 in total, then how much do W and Z receive in total?
Options :

A. ¥ Rs 51000

B. # Rs 48000

C. # Rs 54000

D. # Rs 60000

Question Number : 49 Question Id : 59445934585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ 51000 FUY

B. ¥ 48000 ¥UT

C. ¥ 54000 ¥UT

D. ¥ 60000 FUY

Question Number : 50 Question Id : 59445934586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money given on simple interest of 7% p.a. for 7.5 years earns Rs. 1050. Find the Principal.
Options :

A. ¥ Rs 2000

B. # Rs 1600

C. % Rs 1800

D. # Rs 2400

Question Number : 50 Question Id : 59445934586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfd T 7% & AR STl TR 7.5 T8 & fo1T & 715 IR 1050 T ol Hell § | GALYT I DR |
Options :

A. ¥ 2000 ¥UT

B. ¥ 1600 30U

C. % 1800 3UY

D. ¥ 2400 ¥UY

Question Number : 51 Question Id : 59445934587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The difference between compound interest compounded half-yearly and simple interest on a sum of Rs 50000 for 1 year is Rs 180. What is the
rate of interest per annum?

Options :
A, # 8%
B. ¥ 9%
C. % 10%
D. ¥ 12%

Question Number : 51 Question Id : 59445934587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1aﬁ%%%msoooowﬁrﬁrw3{%%%@%%%@%@?@%%%@?%%180w%|Eri?ratfa:lmﬁ
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Options :
A. % 8%
B. % 99
C. % 10%
D. ¥ 12%

Question Number : 52 Question Id : 59445934588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bike and a car depart from the same location at 9 AM and 10 AM respectively. If speed of the bike is 50 kmph and that of the car is 75 kmph,
then at what time will they meet?

Options :

A. % 11:30 AM
B. ¥ 12:00 PM
C. # 12:30 PM
D. # 1:00 PM

Question Number : 52 Question Id : 59445934588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TP T5H 3R TH HR U o) WM I HHRN: 9 TaTg 3R 10 TaTe TR HRcll ¢ | G I8P 1 T 50 kmph 8 3R BR B 1T 75 kmph B, Al
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Options :

A. % 11:30Ydlg

B. ¥ 12:00 3URT&

C. # 12:30 A7

D. # 1:00 AWRTga

Question Number : 53 Question Id : 59445934589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two bikes start a race at the same time. A bike travels at 30 m/s and the other one at 90 kmph. What will be the time difference in which the
bikes finish the race of 60 kms?

Options :

A. ¥ 400 seconds
B. # 360 seconds
C. # 420 seconds
D. # 450 seconds

Question Number : 53 Question Id : 59445934589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 3% Uh &l THT B I8 Y& O & | U d13P 30 m/s BI 110 4 A & 3R gt 90 kmph I I § | fba= T &1 SiaR ghT forad
dZd 60 kms P SIS T Bt 82

Options :

A. ¥ 400 s

B. ¥ 360 9h8

C. ¥ 4209H8

D. % 450 s



Question Number : 54 Question Id : 59445934590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Z alone can do a work in 225 days. Y is 1.5 times as efficient as Z and X is 1.5 times as efficient as Y. How many days will they take to do the
work together?

Options :
A. % 720/19
B. # 810/19
C. ¥ 900/19
D. % 50

Question Number : 54 Question Id : 59445934590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Z G B Bl 225 A A TR IBAT R Y, Z ¥ 1.5 TN HA & 3R X, Y I 1.5 T HIA 81 9 U Wi HTH A | oA &= A
Options :

A. % 720/19

B. # 810/19

C. ¥ 900/19

D. # 50

Question Number : 55 Question Id : 59445934591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X is 3 times more efficient than Y and Y takes 30 days to complete a task. In how many days can X and Y together finish the task?
Options :

A. %5

B. # 6.25

C.¥75

D. % 10

Question Number : 55 Question Id : 59445934591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

X, Y ¥ 3 T 31 $RA 6 3R Y B &l W HA | 30 TG A1 81 X 3R Y Haa o &f fbaq a1 & -1 &R Favd g2
Options :

A ®5

B. % 6.25

C.¥75

D. ¥ 10

Question Number : 56 Question Id : 59445934592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylinder of radius 22 cm and height 7 cm is melted to form a cuboid. The breadth and height of the cuboid is same as the half of the radius of
the cylinder. What is the length of the cuboid?

Options :

A. ¥ 88 cm
B. # 66 cm
C. % 44cm
D. # 132 cm

Question Number : 56 Question Id : 59445934592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 22 cm 3R FTTS 7 cm P I& D! FUGATHR IATH TR ST § | IATH D1 ASTS 3R TS 9o P BT & MY & SRR 8 | IATH Bt
GEIEREERIES,

Options :

A. ¥ 88 cm

B. % 66 cm

C. # 44 cm

D. # 132 cm

Question Number : 57 Question Id : 59445934593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is half of the total surface area of a sphere whose radius is 28 cm?
Options :

A. % 2464 sq cm

B. # 3696 sq cm

C. # 7392 sqcm

D. ¥ 4928 sq cm

Question Number : 57 Question Id : 59445934593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M BT d YYIT &7 BT 31T [T ¢ et Bisam 28 ecm 82
Options :

A. % 2464 sq cm

B. # 3696 sq cm

C. # 7392 sqcm

D. ¥ 4928 sq cm

Question Number : 58 Question Id : 59445934594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie-chart shows the split of revenue for a firm for a year. The projected revenue for the next year is 25% increase over the current year and

the expenses will also increase keeping the profits in amounts as the same. What will be profit percent the next year? (Profit percent = Profit +~
Sales x 100)



Split of revenue for a Firm

Options :
A. ¥ 12%
B. ¥ 12.5%
C. % 15%
D. # 20%

Question Number : 58 Question Id : 59445934594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A. ¥ 12%
B. # 12.5%
C. % 15%
D. # 20%

Question Number : 59 Question Id : 59445934595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon shows the interest rates offered by two countries for different years. A man invests a total of $90,000 in the two countries
in 2016 and received a total interest of $8,300 for the year. How much did he invest in Country Y?



~#—Country X —=CountryY

12.0% - 11.0%

10.0% 10.0%
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Interest Rate offered

2.0% -

0.0%

2014 2015 2016 2017 2018 2019 2020

Year

Options :

A. % $40,000
B. ¥ $50,000
C. % $45,000
D. # $60,000

Question Number : 59 Question Id : 59445934595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ $40,000
B. ¥ $50,000
C. ® $45,000
D. # $60,000

Question Number : 60 Question Id : 59445934596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The histogram shows the height of a plant (in cms) over different years. In which year did the plant grow the least (% wise)?
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Year

Options :

A. #2015
B. ¥ 2016
C. ¥ 2017
D. # 2018

Question Number : 60 Question Id : 59445934596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A. #2015
B. ¥ 2016
C. #2017
D. # 2018
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Question Number : 61 Question Id : 59445934597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

By this means the mean temperature of the brass was raised through about 70° Fahr., while the amount of metal abrased was only 837 grains.
Options :

A. # By this means the mean temperature of the

B. # brass was raised through about 70° Fahr., while

C. ¥ the amount of metal abrased was only 837 grains.

D. *# No error

Question Number : 61 Question Id : 59445934597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

By this means the mean temperature of the brass was raised through about 70° Fahr., while the amount of metal abrased was only 837 grains.
Options :



A. % By this means the mean temperature of the

B. # brass was raised through about 70° Fahr., while
C. ¥ the amount of metal abrased was only 837 grains.
D. # No error

Question Number : 62 Question Id : 59445934598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Obviously, it had been a long time when she had seen or talked to Mr. Cade.
Options :

A. # Obviously, it had been a long

B. ¥ time when she had seen

C. # or talked to Mr. Cade.

D. # No error

Question Number : 62 Question Id : 59445934598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Obviously, it had been a long time when she had seen or talked to Mr. Cade.
Options :

A. % Obviously, it had been a long

B. ¥ time when she had seen

C. # or talked to Mr. Cade.

D. # No error

Question Number : 63 Question Id : 59445934599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(No sooner did I reach the airport when I stumbled upon a bad omen) and decided to not board the flight.
Options :

A. # No sooner did I reached the airport when I stumbled upon a bad omen

B. ¥ No sooner did I reach the airport than I stumbled upon a bad omen

C. # No sooner did I reached the airport than I stumbled upon a bad omen

D. # No correction required

Question Number : 63 Question Id : 59445934599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(No sooner did I reach the airport when I stumbled upon a bad omen) and decided to not board the flight.
Options :

A. # No sooner did I reached the airport when I stumbled upon a bad omen

B. ¥ No sooner did I reach the airport than I stumbled upon a bad omen

C. # No sooner did I reached the airport than I stumbled upon a bad omen

D. # No correction required

Question Number : 64 Question Id : 59445934600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Renowned author and Tony award winner Bob Fosse has credited modern day drama (for having a deep impact on his writing style).
Options :
A. # to having a deep impact on his writing style

B. ¥ with having had a deep impact on his writing style



C. # as having a deep impact on his writing style

D. # No correction required

Question Number : 64 Question Id : 59445934600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Renowned author and Tony award winner Bob Fosse has credited modern day drama (for having a deep impact on his writing style).
Options :

A. * to having a deep impact on his writing style

B. ¥ with having had a deep impact on his writing style

C. # as having a deep impact on his writing style

D. # No correction required

Question Number : 65 Question Id : 59445934601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

It was that everyone understood the rules so that this would not happen again.

Options :

A. # evanescent

B. ¥ imperative

C. # ambiversion

D. # vale

Question Number : 65 Question Id : 59445934601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



It was that everyone understood the rules so that this would not happen again.

Options :

A. * evanescent

B. ¥ imperative

C. ® ambiversion

D. # vale

Question Number : 66 Question Id : 59445934602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

From this vague, , yet gifted writer our author acquired some of his strong feeling for the naive.

Options :

A. # duplicity
B. # patronage
C. # coherent
D. ¥ incoherent

Question Number : 66 Question Id : 59445934602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

From this vague, , yet gifted writer our author acquired some of his strong feeling for the naive.

Options :

A. * duplicity
B. # patronage
C. #* coherent

D. ¥ incoherent

Question Number : 67 Question Id : 59445934603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In divorce law, the confession

P. of a wife charged with adultery
Q. circumspection and caution,
R. for fear of collusion between
S. may be treated with

the parties to a suit.
Options :

A. ¥ PSQR

B. ¥ PQRS

C. % PRQS

D. % PQSR

Question Number : 67 Question Id : 59445934603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In divorce law, the confession

P. of a wife charged with adultery
Q. circumspection and caution,
R. for fear of collusion between
S. may be treated with

the parties to a suit.



Options :

A. ¥ PSQR
B. # PQRS
C. * PRQS
D. # PQSR

Question Number : 68 Question Id : 59445934604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

Precocious
Options :

A. # Sufficed
B. ¥ Advanced
C. # Convinced

D. # Announced

Question Number : 68 Question Id : 59445934604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

Precocious
Options :

A. * Sufficed
B. ¥ Advanced
C. # Convinced

D. # Announced

Question Number : 69 Question Id : 59445934605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is similar in meaning (SYNONYM) to the word given below.

Amicable
Options :

A. # Hostile
B. # Ferocious
C. ¢ Cordial
D. # Radial

Question Number : 69 Question Id : 59445934605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

Amicable
Options :

A. # Hostile
B. # Ferocious
C. ¢ Cordial
D. # Radial

Question Number : 70 Question Id : 59445934606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

A. ¥ Commodious

B. # Comodious

C. # Comidious

D. # Commidious

Question Number : 70 Question Id : 59445934606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

A. ¥ Commodious

B. ¥ Comodious

C. # Comidious

D. # Commidious

Question Number : 71 Question Id : 59445934607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

A. ¥ Mercenary

B. # Mercinary

C. # Mercianary

D. # Merceanary

Question Number : 71 Question Id : 59445934607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

A. ¥ Mercenary

B. # Mercinary

C. # Mercianary

D. ® Merceanary

Question Number : 72 Question Id : 59445934608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Hell in a hand basket

Options :

A. ¥ With full devotion

B. # Angry and overcome by emotions
C. ¥ To have a dispute with someone

D. ¥ Deteriorating and headed for complete disaster

Question Number : 72 Question Id : 59445934608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hell in a hand basket

Options :

A. # With full devotion

B. # Angry and overcome by emotions
C. # To have a dispute with someone

D. ¢ Deteriorating and headed for complete disaster

Question Number : 73 Question Id : 59445934609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Great minds think alike

Options :

A. # Very intimate friends

B. # Someone who helps others when they are in need, with no discussion for
C. ¥ Intelligent people think like each other

D. # A tedious job

Question Number : 73 Question Id : 59445934609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Great minds think alike

Options :

A. # Very intimate friends

B. ¥ Someone who helps others when they are in need, with no discussion for
C. ¥ Intelligent people think like each other

D. ¥ A tedious job

Question Number : 74 Question Id : 59445934610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Collecting or forming into a mass or group
Options :

A. #* Conjuncture

B. # Corpus

C. % Archive

D. ¥ Agglomerate

Question Number : 74 Question Id : 59445934610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Collecting or forming into a mass or group
Options :

A. #* Conjuncture

B. # Corpus

C. # Archive



D. ¥ Agglomerate

Question Number : 75 Question Id : 59445934611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Boring or unpleasant work that does not require special skill and usually does not pay much money
Options :

A. # Lull

B. ¥ Menial

C. # Demarcation

D. # Adjourn

Question Number : 75 Question Id : 59445934611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Boring or unpleasant work that does not require special skill and usually does not pay much money
Options :

A. * Lull

B. ¥ Menial

C. ® Demarcation

D. # Adjourn

Sub-Section Number : 2

Sub-Section Id : 5944591703
Question Shuffling Allowed : Yes

Question Id : 59445934612 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four



alternatives.

If you are reading this right now, you are taking part in the wonder of literacy. Because of printed words, people can relay information across
both time and space. Ideas are encoded in writing and transmitted to readers across thousands of miles and years. Because of this development,
the words of people distant to us can influence events, impart knowledge, and change the world. Much of the credit for the development of this
phenomenon can be attributed to one man.

Johannes Gensfleisch zur Laden zum Gutenberg, better known as Johannes Gutenberg, was born in the German city of Mainz. Though most of
Gutenberg’s early life is a mystery, historians believe that he studied at the University of Erfurt in 1418 and spent much of his young adult life
practicing the profession of his father: goldsmithing. Having a penchant for fortune and success, Gutenberg borrowed money from investors in
1439 and found himself in financial trouble.

In the year 1439 the city in which Gutenberg lived was planning to exhibit its large collection of relics from Emperor Charlemagne (a famous
ruler who had united much of Western Europe around 800 AD). The exhibit was expected to bring many visitors to the town, so Gutenberg took
investments and created many polished metal mirrors which were to be sold to the visitors (it was a common belief at that time that mirrors were
able to capture holy light from religious relics). The mirrors which Gutenberg produced probably would have sold well, but due to severe
flooding the event was delayed by one year.

Sub questions

Question Number : 76 Question Id : 59445934613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the nationality of the Johannes Gutenberg?
Options :

A. ¥ German

B. # French

C. #* English

D. # Italian

Question Number : 77 Question Id : 59445934614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What profession did Gutenberg's father practice?
Options :

A. #* Blacksmith

B. # Locksmith



C. ¥ Goldsmith
D. ¥ Wordsmith

Question Number : 78 Question Id : 59445934615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does the writer infer that printed words can relay information across time and space?
Options :

A. # Ideas put in words can influence events, impart knowledge, and change the world.
B. # As literacy is a wonder of the world it can spread easily.

C. ¥ Ideas encoded in written scripts can be transmitted across miles and ages.

D. # Ideas in written format can cause people to be more interested in literature.

Question Number : 79 Question Id : 59445934616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following statement is incorrect?
Options :

A. # The words of people distant to us can influence events, impart knowledge, and change the world because the printed words can travel
across time and space.

B. # Guttenberg's father was a goldsmith.
C. # Guttenberg in his young adult life practised goldsmithing.
D. # Guttenberg was an English citizen.

Question Number : 80 Question Id : 59445934617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what kind of value did polished metal mirror possess?
Options :

A. ¥ Religious value

B. # Sentimental value

C. # Individualistic value

D. # National value



Question Id : 59445934612 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

If you are reading this right now, you are taking part in the wonder of literacy. Because of printed words, people can relay information across
both time and space. Ideas are encoded in writing and transmitted to readers across thousands of miles and years. Because of this development,
the words of people distant to us can influence events, impart knowledge, and change the world. Much of the credit for the development of this
phenomenon can be attributed to one man.

Johannes Gensfleisch zur Laden zum Gutenberg, better known as Johannes Gutenberg, was born in the German city of Mainz. Though most of
Gutenberg’s early life is a mystery, historians believe that he studied at the University of Erfurt in 1418 and spent much of his young adult life
practicing the profession of his father: goldsmithing. Having a penchant for fortune and success, Gutenberg borrowed money from investors in
1439 and found himself in financial trouble.

In the year 1439 the city in which Gutenberg lived was planning to exhibit its large collection of relics from Emperor Charlemagne (a famous
ruler who had united much of Western Europe around 800 AD). The exhibit was expected to bring many visitors to the town, so Gutenberg took
investments and created many polished metal mirrors which were to be sold to the visitors (it was a common belief at that time that mirrors were
able to capture holy light from religious relics). The mirrors which Gutenberg produced probably would have sold well, but due to severe
flooding the event was delayed by one year.

Sub questions

Question Number : 76 Question Id : 59445934613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the nationality of the Johannes Gutenberg?
Options :

A. ¥ German

B. #* French

C. * English

D. # Italian

Question Number : 77 Question Id : 59445934614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What profession did Gutenberg's father practice?
Options :

A. % Blacksmith

B. # Locksmith

C. ¥ Goldsmith

D. # Wordsmith

Question Number : 78 Question Id : 59445934615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does the writer infer that printed words can relay information across time and space?
Options :

A. % Ideas put in words can influence events, impart knowledge, and change the world.
B. # As literacy is a wonder of the world it can spread easily.

C. ¥ Ideas encoded in written scripts can be transmitted across miles and ages.

D. # Ideas in written format can cause people to be more interested in literature.

Question Number : 79 Question Id : 59445934616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

A. # The words of people distant to us can influence events, impart knowledge, and change the world because the printed words can travel
across time and space.

B. # Guttenberg's father was a goldsmith.
C. # Guttenberg in his young adult life practised goldsmithing.
D. ¥ Guttenberg was an English citizen.

Question Number : 80 Question Id : 59445934617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, what kind of value did polished metal mirror possess?



Options :

A. ¥ Religious value

B. # Sentimental value
C. # Individualistic value

D. #* National value
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Question Number : 81 Question Id : 59445934618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy #, IR Al 7 9, 39 fawey &1 99+ 3 o feT U Y- fowse &) IfY) &1 I8! fawea 81|

T+ 3M
Options :
A. ® I
B. ® T4
C. ¥ TIg4
D. * Yl

Question Number : 81 Question Id : 59445934618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafoRed Uy |, IR fadeul 7 ¥, 39 fdwed &1 994 33 ol foT U TfY- fawse &1 9fe &1 98! fawea 81|

T+ 3M
Options :
A. *= T4
B. ® Y4
C. ¥ Tg4
D. ® Il

Question Number : 82 Question Id : 59445934619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy H, IR Al A ¥, 39 fawey &1 994 3 o fau U IfY o1 ggt IfY- fawse gl
KA

Options :
A Y YA+




B. ® Jdl+ 3V
C. % Ut + 3y
D. # Ufd+ IV

Question Number : 82 Question Id : 59445934619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl A 9, 39 foweu &1 987 &3 oY fou 7T Y &1 98t TfY)- fawse |l
Uy

Options :

A Y Ud+ 3N
B. ¥ T+ 3
C. ® Tl + 3N
D. % Ufd + 39

Question Number : 83 Question Id : 59445934620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeaa uy & IR fawe 7 9, 39 fawen &1 7o &% off Wed it o1 9el fawed 8|
Options :

A * Q8

B. ¥ 9T

C. % gfofar

D. # 1ddh

Question Number : 83 Question Id : 59445934620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad ve o, TR faweul # 9, 39 fadmed &1 997 B Sl Had gfcaT &1 el fddhed |

Options :




A. % T8
B. ¢ U
C. % gfofr

D. ® gD

Question Number : 84 Question Id : 59445934621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad vy ¥, IR [dwedl § 1, 39 fawed &1 94 B 1l fAU 71T Yeg 1 TH =Y 8l |

SRl
Options :

A. % gd

B. ¥ dfdhd
C. ¢ anyy
D. % 3fid

Question Number : 84 Question Id : 59445934621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed gy o, IR famedl 7 9, 39 fawed &1 997 & Sl QU TN Yeq &l doiH U 8 |

SRS
Options :

A. % &d

B. ¥ gidbd
C. ¢ 3yd
D. % 3fdfHd

Question Number : 85 Question Id : 59445934622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafafad uy A, IR e & 3, 39 9wy o1 79 B &t feu 7T wsg & JAMR Yo o1 Ue! fawey 81|

TT
Options :
A. % ddq
B. # dlg
C. ¢ HgHl

D. ® BIHAT

Question Number : 85 Question Id : 59445934622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad oy H, IR fowedl 7 9, 39 fowed &1 97 &8 9t 3T 7T e o G Weg &1 Uat fdweu gl

TT
Options :
A. % ddd
B. # dlg
C. ¥ ML

D. #® ®IHAT

Question Number : 86 Question Id : 59445934623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o, IR fawenl O 9, 39 [adhed &1 707 & S faU U Xsg T & 3 &1 9g! fawed gl
3if¥fed - erfafed

Options :

A. % TG, srfaa

B. ¥ &gl §3T, Yobvd
C. ¥ &gl §aT, 3fad
D. % 3ffTd, dUR




Question Number : 86 Question Id : 59445934623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve o, TR faweul # 9, 39 fawmed &1 7o 1 S fou 10 Wsg g & 31 &1 9g! fawed gl
3ffHfed - sifafed

Options :

A. % U, Sfferd

B. ¥ &gl g3T, Yobvd
C. ¥ &gl gal, 3rfad
D. # 3MfId, TR

Question Number : 87 Question Id : 59445934624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR ol 7 9, 39 dehey &1 9a &3 o) 3T U Xeq &1 I8! faehH Weg 87 |
Had

Options :

A. % ddhd
B. ¥ &dy
C. # Ui
D. ¥ 3R

Question Number : 87 Question Id : 59445934624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad vy o, TR fawel # 9, 39 fahed &1 9= B3 Sl feu 7T Weg o1 I8 fadiv Tsg 81 |
hd

Options :




A * HdPd
B. ¥ $a¥

C. ¥ HUUH
D. % 3YR]

Question Number : 88 Question Id : 59445934625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRed Uy |, IR fAdeul 7 9, 39 fdwed &1 9949 &3 Sl fST ¢ a1eier &1 el fawed gl
BREERGICatRl

Options :

A. ¢ gHaR
B. ¥ gol
C. % gH!

Question Number : 88 Question Id : 59445934625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR Al 7 9, 39 fawed &1 994 B3 N feT TN areier &1 et faseu gl |
R R B BT |

Options :

A. ¥ GHAR
B. ¥ gaH
C. % gH!

Question Number : 89 Question Id : 59445934626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafaRed vy H, IR fowddl 7 9, 39 fdded &1 9a & off QU ¢ areg H Fd-1H &1 95! He o4 |
S B T U

Options :

A. * 3fyTaras 9dqM™
B. ¥ fAs/ara® 9dqM™

C. ¢ TRARS Ja-H
D. % UYarad qa-Tq

Question Number : 89 Question Id : 59445934626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoad uy & IR fowedi ' T, 39 faeed &1 T &< SN AT W 9199 & Ta-19 &1 Ta! We §aTd |
S BT I HRAT |

Options :

A. % 3ffFggare 949
B. # fAo/arere gdq™
C. ¢ JERARS JdqTH
D. % UdrEId Ja-Tq

Question Number : 90 Question Id : 59445934627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRed Uy |, IR [Adeul 7 9, 39 f[dwmed &1 999 33 Sl fST ¢ 9160 & UHR H1 ol [ddbed gl |
Jei U U1 Bicl- 1 71Td U7 forids IRT 31R SHTe T |

Options :

A. ¥ Y IR

B. ¥ JYdd dT

C. % YRl dieg

D. % (Y ara® a1




Question Number : 90 Question Id : 59445934627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR Al A 9, 39 fawed &1 999 B3 Sl fST U 916 & UHR P ot fdbed gl |

Jg1 T U1 BIeT- A1 7d T fords IRT 3R STt T |
Options :

IR AtEEIC)

B. ¥ ggad qIRd

C. % JIYRUI di&q

D. # ANy I ar

Question Number : 91 Question Id : 59445934628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 faded &1 999 &3 N fT TN 9190 & &1 & He &l Jal f[ddbed gl
IR BipR Al & Ut WR T g |

Options :
A. % IHNT 9dHH ST

B. ¥ QTHIICId IHI BT

C. # YUl Yd BTl
D. ¢ Ul gdHH &1

Question Number : 91 Question Id : 59445934628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeiRad Uy #, IR fAeweal A ¥, 39 faded &1 999 B o) feT TN 9190 & HTd & He &1 Jal f[dbed gl
IR e Al § U R g |

Options :




A. % I IqHH BT
B. ¥ dlcplfcid dqH PHTd

C. % 30l Yd BTl
D. ¢ QUi i oTd

Question Number : 92 Question Id : 59445934629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy H, IR Al 7 9, 39 fawey &1 99 B3 o feT TN Aepifad &1 ol [dbed gl
T fe =d SreTs BIw

Options :

A. % iRt g

B. ¢ §gd 34 YuY § §gd HH HH DHRH
C. % g & AHTUR HH I

D. ¥ $HHl & IR B HAdT g

Question Number : 92 Question Id : 59445934629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy |, IR fddedl 7 ¥, 39 fdwmed &1 999 33 ol fST ¢ Aidpbifad &1 Te! [ddbed gl
T feT =t e DI

Options :

A. % QRIS g

B. ¢ §gd 3Hf% YU T 9gd HH DHIH Bl
C. % IHE & IR HH I

D. % Sl & IR B eI g

Question Number : 93 Question Id : 59445934630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFufeRad Uy #, IR Al 7 9, 39 fawed &1 999 B3 Nl feT TN Aepifad &1 ot [dbed gl

3T IR PpIdard dl gic
Options :

A. ¥ TN 3T g R i WHR T b gER P18t SeIAT
B. ¥ T §11 e ot bl faeme 3 ®

C. % 3O A fFUM & o gl &1 &Iy &

D. % §gd S ST

Question Number : 93 Question Id : 59445934630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRed Uy |, IR fddeul 7 9, 39 fdwed &1 9949 &3 ol fST ¢ Aidbifad &1 To! [ddbed gl

3eeT IR dIqard ol 3ic

Options :

A. ¢ QY 3TAT B IR Ul THR 7 B GO I &Sl 38l
B. ¥ Ueh §11 31cH gaft o farmrs qan @

C. % 3O QY fSUM & ot g¥RI &1 &y &1

D. ¥ §gd S Ml

Question Number : 94 Question Id : 59445934631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy O, IR fawedl O 1, 39 fawed &1 o+ &< St Ifard faR forg god are &1 el faded gl |
Options :

A. * GF-UENU Y Iy SR RRed, sfgr snfe Imgie §

B. ¥ 1-UgNU § Y, 3R, RRed, e e eI R ¢

C. % G-Iy Y Igqay, 3@R, RRe<, sifar e IEI R &

D. % If-UgNU § YadaTy, 3R RRed, sifgr snfe Im g @ &)




Question Number : 94 Question Id : 59445934631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoaa uy & IR fawe # 9, 39 fawe &1 7 o3¢ ot 3rd favm g gad a1y &1 98! faweu g1l
Options :

A. % FRYE Y Jada IR RRed, gt 3fe AT 8% §

B. ¢ -UgNU § Y, 3w, RRad, 3ifer e g R ¢

C. % G-UEYU § Ieaay, 3R, RRad, 3ifFar ofe I 81 3R &

D. # 3f-UgNUl ¥ YaaTy, @R RRed, ifAar onfe AT g1 g

Question Number : 95 Question Id : 59445934632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fased! & 9, 39 fdeed &1 99+ & Sl I favr fag god d1e &1 9s! fadheu gl |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

A. T THT A Pl §:- "FARTer off &) Sfaar 98 diedl TR st Affe § |
B. S1. gAf 3 8T 7, PRI S &t S 98 drsd! UoR a3! AfHes &

C. g1 g1 3 Fer g, FRre off &) wiadr 98 dredt ueRr s Aiftfe B 1
D. S guf A g1 ], "FARTe S B Bfdr "ag ded uer " st wffe g )

Question Number : 95 Question Id : 59445934632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy ¥, IR fasedl B 9, 39 fdded &1 9g B Sl 3o fav g gord a1e &1 gl fddbed gl |
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :




A. S g1 3 Bl §:- "FARTel off ) B faar 98 ded tR st Affe g |
B. ST 9 3 a1 &, Frren oft ) Sfad a8 dred g <t Aife @

C. 31 gAf 3 Fe1 7, FRra ot o1 Sfaar a8 disd uer a8t wffe 3 1|
D. 7. g1 3 BT 7, "FRTaT Sft &) fadm "ag disd ueR " st Afifa 7 |

Sub-Section Number : 2
Sub-Section Id : 5944591705
Question Shuffling Allowed : Yes

Question Id : 59445934633 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

fraforiRad Terie &1 ugHe fau 7T Ul & Tt S I |

ST B T B Yea! & Ia TR fAR ear 371 1R, i TrAToieh Weq, cafad ! 3G Ud HEM S & | STdeid & g Td
YHTIRITE ST & T T g Uaferd HIST &1 g1 UaNT 31 I1fe | 3idid I1fefAies Td foay HTen & UanT & wai Q9T 7 8t & g9RT1 afdaa
e TSN | STaeid & $ad [aaR] &1 8t ATEMUCGH el 8idl, Sfeth fddd &1 HY 3eH-UeH Biar g | 31d: fR1éie i o1 2recl &1 70
OrI-GHSHR BT 8| e/ aRdd # Teh 33T AT 81T 8, S 3 Hfakicd, Qelt, sierard 3R graHTa 3 faenfiat o1 e o=t
3R 3MTH I HaT g 3R 9 W U BU BlSdT 2|

Sub questions

Question Number : 96 Question Id : 59445934634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e RIS 2

Options :

A. % ST

B. ¥ HIfgdPR

C. ¢ 3P

D. # &fd

Question Number : 97 Question Id : 59445934635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



qHoHS Weg Y Safad &1 §d1 g 2
Options :

A. ¥ 3 U4 ggH

B. ¥ YRI-go%

C. % HHIMY

D. # fdgH

Question Number : 98 Question Id : 59445934636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e ford U R 4 faenfial o1 & ofu=t 3R 3T itid HR Thdl § 2
Options :

A. % S G

B. ¥ ®HAR IR

C. % gl FARE

D. ¥ FAfHIT, Aeh, Fraard 3R gravTd

Question Number : 99 Question Id : 59445934637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STt § gfer HTST T HaINT )Y 1 =Mfe?
Options :

A. % 3PV Ud ASGIbal SeM o fag

B. ¥ T U4 YUTaRITel §9H & forg

C. % ORI DI 30 9 H DA & fofw

D. % Hdd HIHYU BT g a9 & feIT

Question Number : 100 Question Id : 59445934638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suded eI o7 IRy e i/ 2

Options :



A. % FIddlid & bl
B. ¥ sal &1 I
C. % i HToT
D. ¥ Hfddd B UHIT

Question Id : 59445934633 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

fraforiRad Terie &1 ugHe fu 7T vyl & Tt S S |

STadd HR THT g Weal & 999 IR IR &1 <1 =1feT, Fifes Yo e aafad &1 IaId Ud He a1 & | STadid & g T
YHTIRITC! ST o foTT T TrIford HTWT T 1 TN T IR | 3icid Iifefies U faay HIvT & Uit 9 el U917 81 {6 gHRT afadd
Tl W S| FIid H Sad f[aR! &1 81 3MeMUSH 78! 8idT, Sfewh Aok &1 Ht 3eH-USH sid1 g | 31d: e/ avf &) Wsal &1 7u
OrI-gHSHR BT 8| e/ IRdd # T 33T AT 81T 8, S 31U Afakicd, Qelt, serand 3R graHTa 3 faenfiat o1 e o=t
3R 3T d HaT 8 3R I W U BU BlSdT g

Sub questions

Question Number : 96 Question Id : 59445934634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e/ T BT 2

Options :

A. % TSl

B. ¥ HligABR

C. ¢ S

D. ¥ ®fd

Question Number : 97 Question Id : 59445934635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Yo I Afad TSI & 2
Options :




A. ¥ 3G U4 48
B. ¥ -

C. ® HAMY

D. # fdgH

Question Number : 98 Question Id : 59445934636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e ford U R 4 faenfial o1 & ofu=t 3R 3T itid HR Thdl § 2
Options :

A. % S G

B. ¥ ®HAR IR

C. % gl FARE

D. ¥ FAfHIT, Aeh, Fraard 3R gravTd

Question Number : 99 Question Id : 59445934637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STadTd § TIerd HTST &1 TRRT ) ST AR e?
Options :

A. % 3PV Ud ASGIbal SeM o fag

B. ¥ T U4 YUTaRITel §9H & forg

C. % ORI DI 30 9 H DA & fofw

D. % Hdd HIHYU BT g a9 & feIT

Question Number : 100 Question Id : 59445934638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sudad T &1 Ifd 2 o 2
Options :

A. * SIdEld Bl Bl

B. ¢ Yl 1 9T



C. % gIiefde ym
D. % Ffadd &1 YHTT

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
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Group Marks :
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Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 59445934639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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6
594459751
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0
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No

0
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5944591473
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Yes
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5944591706
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Sophisticated water conservation by means of channels and reservoirs and water harvesting was discovered at which of these Harappan sites?
Options :

A. # Lothal

B. ¢ Dholavira

C. % Mehrgarh

D. # Mohenjo Daro

Question Number : 101 Question Id : 59445934639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 9 o TS ®Id WR A1ferdt SR ST 3R Sidt Tag- & HIeqH § URSHd STd TRE0T Bt B Bt T3 ot
Options :

A. % Yd

B. ¢ YIATART

C. % UgG

D. ¥ Higd Slcsl

Question Number : 102 Question Id : 59445934640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indus Valley Civilization belongs to which of the following periods in history?
Options :

A. # Mesolithic Age

B. # Chalcolithic (copper) Age

C. ¥ Bronze Age

D. # Iron Age

Question Number : 102 Question Id : 59445934640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i) Bret T sfagr o Fufafad o 9 foy oaftr @ gefea g2

Options :



A. ® TEUTYTOT I
B. % TTHUTYTOT (idT) g
C. ¥ BRI YN

D. * QR

Question Number : 103 Question Id : 59445934641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first modern accounts of the ruins of the Indus Valley Civilisation was provided by:
Options :

A. ¥ Charles Masson

B. # Alexander Cunningham

C. # Rakhaldas Bannerjee

D. # Ravindra Singh Bisht

Question Number : 103 Question Id : 59445934641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e °TCT F1gdr & TEeR! B Ugdl MY fdarvr fhads gRT Ua fovar a1 U
Options :

A, T T

B. % TS PHiagH

C. % JWAGHY ol

D. # fd=x g foy

Question Number : 104 Question Id : 59445934642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Pashupati Seal" of the Indus Valley Civilization was discovered at which of the following sites?
Options :

A. ¥ Lothal



B. # Baror
C. * Bhirrana
D. ¥ Mohenjo-Daro

Question Number : 104 Question Id : 59445934642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rfe] a1t wrar o uxafa ger fafafad & 9 foy wa R @rel 718 ot
Options :

A. % YA

B. % WS

C. ® fIRSHI

D. ¥ HigT Sllggl

Question Number : 105 Question Id : 59445934643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the author of the "Ashtadhyayi"?
Options :

A. # Bharata Muni

B. ¥ Panini

C. # Banabhatta

D. #* Nagarjuna

Question Number : 105 Question Id : 59445934643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed & Q& sl & d@s 82
Options :

A. % WRIGH

B. ¢ TIfOrA



C. ¥ qUIYE

D. ¥ AN

Question Number : 106 Question Id : 59445934644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Third Buddhist Council, under the patronage of Ashoka, was led by:
Options :

A. ¥* Mahakasyapa

B. # Mahathera Jagarabhivamsa

C. ¥ Moggaliputtatissa

D. * Narindabhidhaja

Question Number : 106 Question Id : 59445934644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R & TRe0 H R alig IRee BT A forads IR faam T o
Options :

A. # HglpIRgU

B. % HGTRRI SRIHARI

C. ¢ Arfagafasd

D. # AR-afHeS

Question Number : 107 Question Id : 59445934645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anga was annexed into Magadha under the rule of which king?
Options :

A. ¥ Bimbisara

B. # Brihadratta

C. # Ajatashatru



D. # Udayabhadra

Question Number : 107 Question Id : 59445934645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T 1 foby XTST o R H HI1Y H Ferdl foban a7 U
Options :

A. ¢ fafr@aR

B. # doxd

C. % 3SR

D. ¥ JalHg

Question Number : 108 Question Id : 59445934646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The First Buddhist Council (483 BCE) was held under the patronage of which of the following rulers?
Options :

A. # Bindusara

B. # Ashoka

C. ¢ Ajatashatru

D. % Bimbisara

Question Number : 108 Question Id : 59445934646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA dig T (483 BCE) Fofoiad & 3 forg wmaes & TRemr § maiford o1 s ot
Options :

A. % feguR

B. % 3RII%

C. ¥ 3{JIdRF

D. % fafeaR



Question Number : 109 Question Id : 59445934647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these dynasties was the first non Kshatriya dynasty to come into power in Magadha?
Options :

A. ¥ Haryanka Dynasty

B. ¥ Nanda Dynasty

C. # Shunga Dynasty

D. #* Shaishunaga Dynasty

Question Number : 109 Question Id : 59445934647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH T DI AT A= T & A1 H ST aTaT Ugal 1R &3 AT U1
Options :

A. ¥ g S9N

B. ¢ {1 IS0

C. ® QIS

D. % TREN ISa

Question Number : 110 Question Id : 59445934648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chandragupta Maurya became a disciple of which of these Jain monks?
Options :

A. # Jadivasaha

B. # Pujyapada

C. # Jinabhadra

D. ¥ Bhadrabahu

Question Number : 110 Question Id : 59445934648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T A1 518 9 o oF g & R a7
Options :

A. % SrfearEn

B. % UoUUIG

C. ® foHug

D. ¥ Y5dTg

Question Number : 111 Question Id : 59445934649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which of these inscriptions did Ashoka declare himself an "upasaka"?
Options :

A. ¥ Minor Rock Edict 1

B. # Minor Rock Edict 3

C. ®# Major Rock Edict 8

D. ®¥ Lumbini Inscription

Question Number : 111 Question Id : 59445934649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=90 ¥ frg e & d8d 3% 7 W9 & "SUG" Ot fdhar um
Options :

A. ¥ ORI e 1

B. ¥ AR ® UfsSac 3

C. ® ToR P TSae 8

D. * QiR fRrefrerd

Question Number : 112 Question Id : 59445934650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Mauryas defeated Seleucus Nicator under the rule of which ruler?
Options :

A. ¥ Chandragupta Maurya

B. # Bindusara

C. # Samprati

D. * Brihadratha

Question Number : 112 Question Id : 59445934650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEf A AegDh Y e D1 [ QAeh o T H g1 UT?
Options :

A. ¢ T A

B. ¥ foguR

C. % gwfd

D. * Joea¥

Question Number : 113 Question Id : 59445934651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The last great Mauryan ruler, Samprati, was a patron of which of these religions?
Options :

A. #* Buddhism

B. ¢ Jainism

C. # Hinduism

D. # Shaivism

Question Number : 113 Question Id : 59445934651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sifom wem W e, Iwifa, 3H 9 fhg ¥ & TReew oo



Options :

A % Org yd
B. ¢ o9 gH
c. % fgged
D. ® Qg

Question Number : 114 Question Id : 59445934652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scripts was adopted uniformly throughout the Mauryan empire under the rule of Ashoka?
Options :

A. % Aramaic Script

B. # Devnagri Script

C. # Kharosthi Script

D. % Brahmi Script

Question Number : 114 Question Id : 59445934652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & 3 o I fafial &) e & W 3 O 11 9mHTsa & 99 0 § 3011 747 412
Options :

A. ¥ JRHZS ferfy

B. ¥ GadrR] farfy

C. % TRyl fafy

D.  STgi ferfu

Question Number : 115 Question Id : 59445934653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Deimachus was an ambassador to the court of:
Options :



A. ¥ Bindusara
B. # Bimbisara
C. # Ashoka

D. # Samprati

Question Number : 115 Question Id : 59445934653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feTay forads aRaR o Toigd U1
Options :

A. ¥ 9gER

B. # faffeOR

C. % 3®b

D. % qwifd

Question Number : 116 Question Id : 59445934654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to numismatic knowledge regarding the Gupta Period, which of the following rulers is depicted on some gold coins as playing the
veena?

Options :

A. % Chandragupta II
B. ¥ Samudragupta
C. ¥ Kumaragupta I
D. ¥ Vishnugupta

Question Number : 116 Question Id : 59445934654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3fafY & AR W GETIRET I & SR, Fafeiad & § frd Imae & 5o 9 & Rigw! R Jion swird gu a=iiar 7/ 82

Options :

A ® T



B. ¢ qH&{ W
C. % PHRIE I
D. % faqupywd

Question Number : 117 Question Id : 59445934655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Skandagupta is credited with defeating which of the following tribes?
Options :

A. ¥ Hunas

B. # Kambojas

C. # Parasikas

D. # Kiratas

Question Number : 117 Question Id : 59445934655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 B FEfeied o 9 fod SHefa &1 wRiford s &1 99 fear mar
Options :

A. ¥ GOl

B. % el

C. % URRYD

D. ¥ fard

Question Number : 118 Question Id : 59445934656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Raghuvamsa" is the work of:

Options :

A. % Vishakhadutta

B. # Tulsidasa



C. ¥ Kalidasa

D. * Harisena

Question Number : 118 Question Id : 59445934656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YA Y BT B ©:

Options :

A. % fqmEeT

B. % gadiarg

C. ¥ BIIG™

D. % gRy

Question Number : 119 Question Id : 59445934657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Das Kapital" also known as "Capital: A Critique of Political Economy" is written by:
Options :

A. % Karl Polanyi

B. # David Ricardo

C. # Hegel

D. # Karl Marx

Question Number : 119 Question Id : 59445934657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Hited" O "dited: T fhfed 31T ulfefcdd sh M & U H i SIFT offar 8, frae gr fordt 775 8
Options :

A. % FTdl Orait

B. ¥ sfas Rare!

C. % 3d




D. ¥ &HTe HIR

Question Number : 120 Question Id : 59445934658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Economic History Society" (EHS) was set up in the year:
Options :

A. ¥ 1926

B. ® 1956

C. * 1986

D. # 1976

Question Number : 120 Question Id : 59445934658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SI et ATSCl" (EHS) 1 RITUT -5 8 H 1 718 2t:

Options :
A. ¥ 1926
B. * 1956
C. * 1986
D. # 1976
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Question Number : 121 Question Id : 59445934659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these thinkers argued that, without a strong government, society would collapse into:" Bellum omnium contra omnes" - "the war of all
against all" ?

Options :

A. # Jean Jaques Rousseau
B. ¥ Thomas Hobbes

C. # Friedrich Engels

D. * Emile Durkheim

Question Number : 121 Question Id : 59445934659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 3 ford foaRes 3 9 fean fos, Aol TSR & ST, THTST 1 Ud- 81 SITU: "Sad g di-er g - quft & Raars @uft &
g

Options :




Question Number : 122 Question Id : 59445934660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who suggested the following with regard to "Patriarchal Family" : 'sexual jealousy, indulged through power, might serve as a definition for the
Patriarchal Family'?

Options :

A. ¥ Sir Henry Sumner Maine
B. ¥ Lewis Henry Morgan

C. # Sigmund Freud

D. * Ernest Gellner

Question Number : 122 Question Id : 59445934660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem " frgcaTee® uRaR & Jey & fafafad o1 ggma far aF swi, Wfad & Aregd 3 fore, figdsrds uikar & fag g akuyen &
0 T BTH B Jhdl g2

Options :

A. ¥ TR AR 9184
B. ¥ 59 g AN

C. # Rrags wros

D. % 3FE AR

Question Number : 123 Question Id : 59445934661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following was the first dynasty of the Sultanate era?
Options :



A. # Khalji Dynasty
B. # Sayyid Dynasty
C. ¥ Mamluk Dynasty
D. # Lodi Dynasty

Question Number : 123 Question Id : 59445934661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foffEd & ¥ D9 Tod-d BT BT UgaT JASTIR T2
Options :

A. ¥ TcToll IeTaw

B. ¥ 9U¢ JoaW

C. ¥ HHJ®D Ja

D. ¥ oidl IeTaR

Question Number : 124 Question Id : 59445934662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was not a vassal state of the Bengal Sultanate?
Options :

A. ¥ Malwa

B. # Odisha

C. # Tripura

D. # Arakan

Question Number : 124 Question Id : 59445934662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRed # ¥ D ST Hea-d & IFTRGR 1o a1 UT?
Options :

A. ¥ HIddl



B. ¥ 3ffgEm
c. * g

D. # 3{Rh[q

Question Number : 125 Question Id : 59445934663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Muhammad bin Bakhtiyar Khalji was responsible for the desecration of which of the following sites?
Options :

A. # Ajmer

B. ®¥ Somnath

C. ¥ Nalanda

D. * Dwarka

Question Number : 125 Question Id : 59445934663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HewG forT IReTaR Raereit FaferRad & 9 fobd Rid B1 givid - o ferd foigR 32
Options :

A. % ISR

B. % 9y

C. ¢ Arefal

D. # GR®I

Question Number : 126 Question Id : 59445934664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which of these rulers did the Delhi Sultanate reach its peak in terms of geographical reach?
Options :

A. % Feroz Shah Tughluq

B. # Ghiyasuddin Tughluq



C. ¥ Muhammad bin Tughluq
D. #* Abu Bakr Shah

Question Number : 126 Question Id : 59445934664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 O g wrae & 31efiA et Teamra Wimiferes fawaR & Ama & 3 oRe R uga 8 o
Options :

A. % TOhRIVT T8 qiIereh

B. % TMge qied

C. ¥ YgrIc fo qirers

D. # 3{q d¢h RT3

Question Number : 127 Question Id : 59445934665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Shalimar Bagh" was commissioned under which of these rulers?
Options :

A. ¥ Babur

B. ¥ Jahangir

C. # Shah Jahan

D. # Akbar

Question Number : 127 Question Id : 59445934665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S0 I 59 e & 37E "YMAHR I Wb R T a7 U1
Options :

A. # dldR

B. ¥ TGN

C. % 2T Sfgl



D. # bR

Question Number : 128 Question Id : 59445934666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Tutinama" was illustrated under which of these rulers?
Options :

A. ¥ Humayun

B. ¥ Akbar

C. % Jahangir

D. # Shah Jahan

Question Number : 128 Question Id : 59445934666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 T fog e & S1efiH e &1 fafd fosar mar um
Options :

A. % g

B. ¥ 3hd}

C. ¥ SENR

D. * T8 SEl

Question Number : 129 Question Id : 59445934667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Battle of Chausa took place between which of the following pairs?
Options :

A. ¥ Humayun - Sher Shah Suri

B. # Babur - Ibrahim Lodhi

C. # Aurangzeb - Dara Shikoh

D. # Akbar - King Hemu



Question Number : 129 Question Id : 59445934667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeiRad # 9§ fobd oS & i<l < &1 gk g3 Ul
Options :

A. ¥ G - TR MM

B. ¥ STeR - SSfgH qrelt

C. % IS - GRT Rblg

D. # 3fheR - I 5H

Question Number : 130 Question Id : 59445934668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Sepoy Mutiny of 1857 started in which of the following towns?
Options :

A. * Vellore

B. # Barrackpore

C. ¥ Meerut

D. # Gwalior

Question Number : 130 Question Id : 59445934668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRyurgt fasis, 1857 Fafciad # 9 fog e & gE g e
Options :

A. ® deeR

B. ¥ RO

C. ¥ W3

D. % TqIferR



Question Number : 131 Question Id : 59445934669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why was The General Service Enlistment Act (1856) a major cause for the uprising of 18577
Options :

A. # It promoted racism among the rank of sepoys.

B. # It reduced the pay of the sepoys.

C. # It promoted recruitment from only among the high caste Hindus like Brahmins and Rajputs.

D. # It required sepoys to go overseas for deployment which was taboo for Hindus in those days.

Question Number : 131 Question Id : 59445934669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T T AT (1856), 1857 & faxig &1 U@ HRUT &1 T2

Options :

A. % 39 Ryurfedl & ool & o9 TXdie &1 ggral faar|

B. ¥ I RU1fgdl o ddq &I HH B [Tl

C. * T TR0 SR Y ol I Shifal o fegeff § ¥ g il &1 Sgran faar|

D. ¢ Z9H AT & o Ryurfeat & facwr o @t srazadsdr ot it 34 &t figgsit & forw afSta

Question Number : 132 Question Id : 59445934670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term "First War of Independence" with reference to the Indian Rebellion of 1857 was first popularised by:
Options :

A. % Karl Marx

B. ¥ Vinayak Damodar Savarkar

C. # Jawaharlal Nehru

D. # Bhimrao Ramji Ambedkar

Question Number : 132 Question Id : 59445934670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
1857 & HRA fdgie & HaH H "wadadl &1 Ugdl J&" e T Ugd foh o gRT QB Iod g3 oT:
Options :

A. ® Ho 716

B. ¢ {4 MG TR
C. ¥ SATEdd Hg%e

D. ¥ YIHRTG IHS See

Question Number : 133 Question Id : 59445934671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Permanent Settlement of Bengal" act was passed under which of these Governor generals?
Options :

A. ¥ Lord Cornwallis

B. # Lord Hastings

C. # Lord William Bentinck

D. # Lord Canning

Question Number : 133 Question Id : 59445934671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH W T HERTSUUTS & {1 "sHTTel b1 QIR siciaa Sfferf-ram urid foar mam um
Options :

A. ¥ TS DI-arferd

B. ¥ dls o™

C. ¥ dls faferm dfe®

D. % Tl P

Question Number : 134 Question Id : 59445934672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of these acts, passed by the British Parliament, promoted the revival and growth of literature and sciences in India?
Options :

A. # Government Act of 1858

B. # Pitt's India Act of 1787

C. ¥ Charter Act of 1813

D. # Regulating Act of 1773

Question Number : 134 Question Id : 59445934672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafewr T grT uilka 370 9 forg sififam 3, YRd o Wi 3R a7 & TTogR iR faewma &1 9grar feam
Options :

A. ¥ RHRT YT, 1858

B. # fUc &1 YRa Sy, 1787

C. ¢ TR fAFTH, 1813

D. * fafqowa sfafagy,1773

Question Number : 135 Question Id : 59445934673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bengal Sati Regulation act, (Regulation XVII) was passed in the year:
Options :

A. % 1798

B. # 1817

C. % 1812

D. ¥ 1829

Question Number : 135 Question Id : 59445934673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e it fafraea sifafras, @@ xvin feeg ad J uiivd foear mar ure

Options :



A. #1798
B. # 1817
C. % 1812
D. ¥ 1829

Question Number : 136 Question Id : 59445934674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pamphlet, Pakistan Declaration, titled "Now or Never; Are we to live or Perish Forever?", published in 1933 was written by:
Options :

A. # Muhammad Zafarullah Khan

B. ¥ Muhammad Ali Jinnah

C. ¥ Choudhary Rahmat Ali

D. # Abul Kasem Fazlul Huq

Question Number : 136 Question Id : 59445934674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1933 H UBTRId URhdle, UTfpwar feaeveH, foraet 2 st a1 & 78Y; a1 g9 sa=n Sitfad 1|0 a1 9y 81 Siaie" o7, fhas gRI
e T .

Options :

A. * HgHa STh ¥ il 9

B. % HIgHG 3l foralg

C. ¢ TRl gHd Srell

D. ¥ 3{gd Bl holgd gh

Question Number : 137 Question Id : 59445934675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Martin Luther was excommunicated by the Pope, Leo X in 1521 by which of the following papal bulls?
Options :



A. # Antiqua sanctorum patrum
B. ¥ Decet Romanum Pontificem
C. # Regimini militantis eccelesiae

D. #* Injunctum nobis

Question Number : 137 Question Id : 59445934675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 ford urae 9 gRT 1521 & U9, Rl X gRT A1 qeR &1 sfessd favar mar um
Options :

A. % UfeHT daeRd UeH

B. ¥ SRIC IHH Uifefthan

c. * YfE fafefew taiaf

D. % goigeH Al

Question Number : 138 Question Id : 59445934676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Reformation Day" is celebrated on which of the following dates in Germany?
Options :

A. ¥ 31st October

B. # 18th February

C. % 25th June

D. # 10th November

Question Number : 138 Question Id : 59445934676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & e & @ fea Aty o wguR feag gemar simar @2
Options :

A. ¥ 3] 3fdgel}



B. ® 18 TRax!

C. % 259
D. % 10 FdeR

Question Number : 139 Question Id : 59445934677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Martin Luther and John Calvin were influenced by the writings of:
Options :

A. * Paul the Apostle

B. ¥ Augustine of Hippo

C. #* Plotinus

D. * John Wycliffe

Question Number : 139 Question Id : 59445934677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T QR 3R S Ffed fraeds aes I yuifad 2
Options :

A. % Uid & U

B. ¢ fewi &1 TR

C. ® wlfeTg

D. % 9 argfaith

Question Number : 140 Question Id : 59445934678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"De hominis dignitate" (Oration on the Dignity of Man,1486) is written by which of the following scholars?
Options :

A. # Niccolo Machiavelli

B. # Poggio Bracciolini



C. * Erasmus
D. % Giovanni Pico Della Mirandola

Question Number : 140 Question Id : 59445934678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiaa o 9 ford fagm grr <t giffa fsfie (s ot ilRer R e, 1486) forar mar g2
Options :

A. % Fepral Afdardet

B. % QIR sifdpaiifert

C. % U

D. ¢ Siar fUeh! Gall HRga
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Question Number : 141 Question Id : 59445934679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among these scholars rediscovered "De rerum natura", Lucretius's only surviving work?
Options :

A. ¥ Poggio Bracciolini

B. ¥ Niccolo de Niccolai

C. # Lorenzo Medici

D. # Leonardo Bruni

Question Number : 141 Question Id : 59445934679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fagHi o 2 fram qobfasy & T A &1 'S WA TR Bt -6 B2
Options :

A. ¢ IR sfdsafer

B. * a1 Feiars

C. * Rl AfSRy

D. ¥ feramret g+

Question Number : 142 Question Id : 59445934680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bankers during the Renaissance period in Florence belonged to which of these "Arte Maggiori" (greater guilds)?



Options :

A. # The Arte dei Guidici e Notai
B. ¥ The Arte del Cambio

C. # The Arte della Seta

D. # Thr Arte dei Medici e Speziali

Question Number : 142 Question Id : 59445934680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR B QIR HTd & SR §9%, T8 € frg od A (ggw 4ot 3 Fefa &
Options :

A * T SRS AT

B. ¥ T 3¢ Sd ohitadl

C. % g 3f1¢ saT¥el

D. ¥ g 3¢ ¢ AfsHl T aferame

Question Number : 143 Question Id : 59445934681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The School of Athens" in the Vatican Stanza della Segnatura, is a fresco painted by which of the following painters?
Options :

A. #* Da Vinci

B. # Michelangelo

C. ¥ Raphael

D. #* Botticelli

Question Number : 143 Question Id : 59445934681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A R T AT A e W ot T, FrgRad A v RereR gr it ARy R 2

Options :



A. % grfadt

B. ¥ HAHd Uoidl
C. ¥ Ahd

D. ¥ SId

Question Number : 144 Question Id : 59445934682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the four listed questions below falls under "internal criticism" as characterized by Garraghan and Delanglez?

Options :

A. ¥ When was the source ,written or unwritten, produced? (date)
B. # By whom was it produced? (authorship)

C. # Where was it produced? (localization)

D. ¥ What is the evidential value of its contents? (credibility)

Question Number : 144 Question Id : 59445934682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fou U OR Gfiag Ul # 9 B 3iialke ST & Sdiid 3iTdT g, SR fob TRTEF 3R STTery gRT afvfd g2
Options :

A. % Hid &1 od forar o sifafea, e fasar mar ar (f@fY)

B. % Ig fhae gR1 Idifed fovar mar U (dies )

C. % YD IATC B8l (BT T U7 (RITFIHR)

D. ¢ 3P I o1 18T Jed 1 82 (FAyg-aan)

Question Number : 145 Question Id : 59445934683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following scholars has been called "the father of scientific history"?
Options :

A. ¥ Thucydides



B. ¥ Plato
C. ® Socrates
D. * Herodotus

Question Number : 145 Question Id : 59445934683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 fod fagM & "asTe Saer &1 oFe" el T/ 57
Options :

A. ¢ gHIERdN

B. ¥ Wic!

C. % gpId

D. ¥ fgIsicy

Question Number : 146 Question Id : 59445934684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these following historians, based on Thucydides's writings, classified his work under 20th century scientific positivism?
Options :

A. # Leo Strauss

B. # Jaqueline de Romilly

C. ¢ Charles Norris Cochrane

D. # Richard Ned Lebow

Question Number : 146 Question Id : 59445934684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 8§ § fra 3faeeR 3 ZEiegdel & O & SMYR W, 3796 B I 2041 ¢t & IS TA&dE & dgd aiiidd bl
Options :

A % i€

B. ¥ Siahai ot AT




C. ¢ I AR P
D. ¥ A s dal

Question Number : 147 Question Id : 59445934685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these historians has laid down seven conditions for a successful argument to the best explanation?
Options :

A. * Gilbert Garraghan

B. ¥ C. Behan McCullagh

C. #* Louis Gottschalk

D. * Ernst Bernheim

Question Number : 147 Question Id : 59445934685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 ¥ fry SfigeR 3 vafaw men & i W adb /g 1 ¥ uffed @1 82
Options :

A. % fieed TRIeA

B. ¢ ). 9gF Aoy

C. ® s TMicHdIdh

D. % 3K g oH

Question Number : 148 Question Id : 59445934686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The Story of Mankind (1921)" is written by which of the following historians?
Options :

A. ¥ Hendrick van Loon

B. # Herbert George Wells

C. # Oswald Spengler



D. # Arnold J. Toynbee

Question Number : 148 Question Id : 59445934686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o § fea 3faemeRr grT g €KY 8ife B9e1ss (1921)" fordt 718 82
Options :

A. ¥ Big® d

B. ¥ gdc Gllol ded

C. % 3fIYdTes WIR

D. % 3FIeE o, gHat

Question Number : 149 Question Id : 59445934687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JTNE BT e A fobar mam o
Options :

A. % 17 3(Ud, 1992

B. # 6, 1990

C. ¥ 179, 1991

D. % 11 30d, 1994

Question Number : 149 Question Id : 59445934687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Apartheid Legislation repealed?
Options :

A. #* 17 April, 1992

B. # 6 June, 1990

C. ¥ 17 June, 1991

D. * 11 April, 1994



Question Number : 150 Question Id : 59445934688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The Unknown War" or "The Forgotten War" , in the western world, refers to which of the following wars in history?
Options :

A. % Afghan Civil War

B. # Kargil War

C. # The Vietnam War

D. ¥ The Korean war

Question Number : 150 Question Id : 59445934688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a3 g g 3HIM dRY 41 g Bitie dR" sfiere | Fafeied | @ fobd g 1 Hafiid e g2
Options :

A. # B[

B. ¥ HRAM IS

C. ® fquaTm gg

D. ¥ DINTR J&

Question Number : 151 Question Id : 59445934689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did Deng Xiaoping initiate China's "Open Door Policy"?
Options :

A. #1976

B. ¥ 1978

C. # 1986

D. # 1988

Question Number : 151 Question Id : 59445934689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<11 et fir A fF9 o1 3o SR uiferdl &d & B2
Options :

A. #1976

B. ¥ 1978

C. % 1986

D. # 1988

Question Number : 152 Question Id : 59445934690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The "Minute Upon Indian Education" which led to The English Education Act of 1835, was formulated by which of these English scholars?

Options :

A. # William Campbell
B. ¥ Horace Wilson

C. ¥ Thomas Macaulay
D. * Thomas Munro

Question Number : 152 Question Id : 59445934690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Rl e R e e SRoT s e sififam, 1835 541, 39 oi¥ioh fagi & 9§ forg & gR1 daR fovam i um
Options :

A. % foferm sed

B. % gRY faw

C. ¥ U APld

D. % YIAY TRI

Question Number : 153 Question Id : 59445934691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The "Rashtriya Swayamsevak Sangh" (RSS) was founded in Nagpur,1925 by:
Options :

A. ¥ Keshav Baliram Hedgewar

B. # Vinayak Damodar Savarkar

C. ¥ Chakravarti Rajagopalachari

D. # Sardar Vallabhai Patel

Question Number : 153 Question Id : 59445934691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP THHTD HY" BT RITAH AR, 1925 H g gRI 1 715 T
Options :

A. ¥ $IG IR TSAR

B. # {q9Id MG HaRH

C. % Thad] ASTNTATER]

D. ¥ IRGR AT Ucd

Question Number : 154 Question Id : 59445934692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Nil Darpan" a play which essentially influenced the Indigo Revolt of 1859, was written by:
Options :

A. # Michael Madhusudhan Dutta

B. ¥ Dinabandhu Mitra

C. ® Rabindranath Tagore

D. # Girish Chandra Ghosh

Question Number : 154 Question Id : 59445934692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1859 & "1 fagig" &I 3ifAarid: yHifad A arel Ares, "—idcdur fage gR ferar mar ar:




Options :

A. ® HIRDP I HYY adl
B. ¥ diHaY fi=

C. ® ey SR

D. % R < 9y

Question Number : 155 Question Id : 59445934693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ilbert Bill was introduced under the viceroyship of which of the following?
Options :

A. #* Lord Mayo

B. # Lord Lytton

C. ¢ Lord Ripon

D. # Lord Dufferin

Question Number : 155 Question Id : 59445934693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRuferfad 7 3 forge IR™ & dgd sead f9d 9 faar mar U
Options :

A % dls T

B. ¥ dls fored

C. ¥ dis koA

D. % dls WA

Question Number : 156 Question Id : 59445934694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following was the first "Satyagraha" movement led by Mahatma Gandhi?
Options :



A. ¥ Ahmedabad Satyagraha
B. # Salt Satyagraha Movement
C. ¥ Champaran Satyagraha

D. # Kheda Satyagraha

Question Number : 156 Question Id : 59445934694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad & @ &9 geTe el & Aga # ugdl "qarg el UT
Options :

A. # 3gHaldlq Jdle

B. % HS IAUG gl

C. ¥ JURU Ydl¥e

D. ¥ W3 YIIE

Question Number : 157 Question Id : 59445934695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was "The Vernacular Press Act" repealed?
Options :

A. % 1882

B. # 1884

C. % 1883

D. # 1881

Question Number : 157 Question Id : 59445934695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg o # = U SrffgH 1 AR fovan am um
Options :

A. % 1882



B. * 1884
C. % 1883
D. ¥ 1881

Question Number : 158 Question Id : 59445934696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisations was vehemently in support of the concept of a united India?
Options :

A. # Krishak Sramik Party

B. ¥ Azad Muslim Conference

C. % Bengal Provincial Muslim League

D. # All India Muslim League

Question Number : 158 Question Id : 59445934696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRad & I DI 91 WS 3RS YRA $I SIAURTN & Jad THAT & 12
Options :

A. ¥ $YS YHP Urel

B. ¥ 3(T9ITG GRAH Grie

C. % SIS Uiy gRad ol

D. % 3ffae WRdTY G i

Question Number : 159 Question Id : 59445934697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Hicky's Bengal Gazette or The Original Calcutta General Advertiser", the first newspaper to be printed in Asia, was published in the year:
Options :

A. #1777

B. ¥ 1780



C. #1782
D. # 1778

Question Number : 159 Question Id : 59445934697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR ST TToTe 1§ SR Hadhal o-Rd TsdRergoR”, TR H BU- ATl Ugdl SHER UF, ford au & UahIiRId faar T o
Options :

A. #1777

B. ¥ 1780

C. % 1782

D. ¥ 1778

Question Number : 160 Question Id : 59445934698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sir Francis Bacon's method of the application of "inductive reasoning" was put forward in which of this following works?
Options :

A. ¥ Novum Organum (1620)

B. # The Wisdom of the Ancients (1609)

C. # Masculus Partus temporum (1603)

D. # Meditationes Sacrae (1597)

Question Number : 160 Question Id : 59445934698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR IR aPh B "HTTHATHD dob" b STHART DI Usid D FufeiRad o 9 food i 1 U=y fopam war
Options :

A. ¢ Tiaq =T (1620)

B. ¥ g faxed 31t g 3fRYUH (1609)

C. % TRHAY UIcH CHIRH (1603)



D. % AT T3 (1597)
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Question Number : 161 Question Id : 59445934699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these scholars is the author of "De I'esprit des loix" (1748; The Spirit of Laws) in which he applied a comparative method of analysis?
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Options :

A. # Rene Descartes
B. # Voltaire

C. ¥ Montesquieu

D. # Giambattista Vico

Question Number : 161 Question Id : 59445934699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 O I 1 fagH S aufle S9 diga (1748; T fufke 3t @lel) & aad § s 3814 ARyl &1 Ja-Tdis Ui ar &1 82
Options :

A. % A GHTd

B. ¥ dlecd’

C. ¥ Hi<I,

D. # s fal

Question Number : 162 Question Id : 59445934700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among these was the founder of the doctrine of positivism?
Options :

A. # Jean-Jacques Rousseau

B. # John Locke

C. # Immanuel Kant

D. ¥ Auguste Comte

Question Number : 162 Question Id : 59445934700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 U D YAEAIE B TIdIG B NG Id b RIS A2
Options :




A. % SH-STHpTH =]
B. ¥ Gl dich

C. % SHMUS BIUC

D. ¢ 3 DI

Question Number : 163 Question Id : 59445934701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following historians argued that the development of civilizations follows a series of repetitive rise and falls?
Options :

A. #* Arnold Joseph Toynbee

B. ¥ Oswald Spengler

C. # Johann Gottfried Herder

D. * Edward Gibbon

Question Number : 163 Question Id : 59445934701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed 8§ 3 fa sfaemeR A da faa fos Guadrell &1 faeT SIBRIaeR S/ SR UdH &1 4@l 61 S8R0 BT 62
Options :

A. % SN0 3FieS gl
B. ¢ 3YaIcs WTeR
C. ® SIgH MhIEs g%

D. ¥ Tgds [ed

Question Number : 164 Question Id : 59445934702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Kesari", a Maratha newspaper started by Bal Gangadhar Tilak and in circulation to this day, was founded in the year:
Options :

A. ¥ 1881



B. # 1884
C. #1878
D. * 1871

Question Number : 164 Question Id : 59445934702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR fAde gR1 Y= 61 a1 AR16T THER U "dHerl 3R 31T ddb YR H 8, BT Tl fhd ay & g3 o
Options :

A. ¥ 1881

B. # 1884

C. #1878

D. * 1871

Question Number : 165 Question Id : 59445934703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Al-Hilal" the weekly Urdu language newspaper was established by:
Options :

A. # Asaf Ali

B. # Khan Abdul Ghaffar Khan

C. # Syed Mohammad Sharfuddin Quadri

D. ¥ Maulana Abdul Kalam Azad

Question Number : 165 Question Id : 59445934703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATl 3¢, HTH TR U "3{d-fgara” &t RO fhed gR1 3t 7S o
Options :

A. ¥ 3% il

B. # W[ Hegcl THLR W



C. % 9U¢ YgWg IRPeH HIaY]
D. ¢ UM 3fd B 3MT9lG

Question Number : 166 Question Id : 59445934704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following sessions of the Indian National Congress did the party split into the Extremists and the Moderates?
Options :

A. # Calcutta Session

B. # Surat Session

C. % Benares Session

D. * Madras Session

Question Number : 166 Question Id : 59445934704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRGTT APTA H1UY & FaferRad o 9 g siftawm o oo aRaufRal ik =Reulal # favifor g1 mam
Options :

A. % Dl AR

B. ¥ IR HfYa=H

C. % §IRY S{Ea=H

D. ¥ HEIH YT

Question Number : 167 Question Id : 59445934705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following movements was a diasporic (based outside India) movement with the goal of achieving independence for India?
Options :

A. # The Non-Cooperation Movement

B. # Khilafat Movement

C. ¥ Ghadar Movement



D. #* Civil Disobedience Movement

Question Number : 167 Question Id : 59445934705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad & @ ®F 91 sieiad YRd & e W= U &3 & @80 & I1Y YaRiT (HRd & STeR SeTia) iiaias ur
Options :

A. % 3MHEYNT fTaleH

B. ¥ Raethd 3fr<le

C. ¥ TR 3Tl

D. % Jfaag 3Ia3 <

Question Number : 168 Question Id : 59445934706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these activists accompanied Annie Besant to advocate universal suffrage to the Joint Select Committee in London?
Options :

A. ¥ Sarojini Naidu

B. # Vijaya Laxmi Pandit

C. % Usha Mehta

D. # Begum Hazrat Mahal

Question Number : 168 Question Id : 59445934706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 A DI Y HRGA! - dad J Ggad YaR ArHfd T AraHiite AdiieR &1 fRARd B & forg T+ ahiwe &1 ary faam
Options :

A. ¥ WA TIg

B. ¥ faorrcieHt ufSd

C. % I Hgdl

D. % STH §oRkd Hgd




Question Number : 169 Question Id : 59445934707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among these extremists started the Ganesh and Shivaji festivals in order to oppose westernization in India?
Options :

A. # Lala Lajpat Rai

B. ¢ Bal Gangadhar Tilak

C. % AK. Dutt

D. # V.0.C Pillai

Question Number : 169 Question Id : 59445934707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA T UiAHieHR01 &7 Ry a3 & fo1g 371 TRedfa! § 9 fem 7oy 3R RiaTef 37a e fhw?
Options :

A. % Il Sy d Mg

B. ¢ €Td TR fcies

C. % U, ad

D. % o} 3f1 ¥ et

Question Number : 170 Question Id : 59445934708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Tattwabodhini Patrika" was established by which of the following scholars?
Options :

A. # Raja Ram Mohan Roy

B. # Bipin Chandra Pal

C. % Rabindranath Tagore

D. ¥ Debendranath Tagore

Question Number : 170 Question Id : 59445934708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafaRaa o 9 fog fagm A "daaie T uRAd & Ra=r &f i
Options :

A. ¥ ST YA T

B. % faft<dg ura

C. % JGIEATY SR

D. ¢ TA5ATY SR

Question Number : 171 Question Id : 59445934709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these Mughal Emperors revived the Pilgrim Tax?
Options :

A. ¥ Alamgir

B. ¥ Farrukhsiyar

C. % Bahadur Shah

D. ¥ Aurangzeb

Question Number : 171 Question Id : 59445934709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 ¥ o g 9wte A <t o &1 gesiitad fbar
Options :

A. ® TAHIIR

B. % ho@ RIER

C. ® dglgX e

D. ¥ ol

Question Number : 172 Question Id : 59445934710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of these Mughal emperors instituted agricultural taxes which largely increased the empires collective wealth?
Options :

A. ¥ Akbar

B. ¥ Humayun

C. % Babur

D. * Shah Jahan

Question Number : 172 Question Id : 59445934710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S0 3 ford ITel THTE A i R} b R Bt o JETsd! &1 AHfed Sufd § B! 9ig 832
Options :

A. ¥ HhaR

B. ¥ §HRL

C. % dlsRk

D. ¥ T8 STEl

Question Number : 173 Question Id : 59445934711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Provinces were divided into "Bhukti, Pradesha and Bhoga" under which of these medieval kingdoms?
Options :

A. % Pallava Kingdom

B. ¥ Gupta Kingdom

C. # Chera Kingdom

D. ¥ Ahom Kingdom

Question Number : 173 Question Id : 59445934711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AHTEH ITsal B F fpges 3ref= uidl &1 yfda, wewr 3R i & faunfora fosan mar um




Options :

A. % Ucid Y
B. ¢ Tt XY
C. % RIH

D. % 3BH I

Question Number : 174 Question Id : 59445934712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the reign of which of these Chola kings were hereditary landlords significantly replaced by dependent officials?
Options :

A. # Sundara Chola

B. # Gandaraditya Chola

C. ¥ Rajaraja Chola |

D. # Rajendra Chola I

Question Number : 174 Question Id : 59445934712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH ¥ o5 DI ST o TEIhTe | AR STHIGR] B BIth! SATg ST STYDTRAT A o ot &
Options :

A. % R A

B. % Tiefed Aid

C. ¥ ICRTS AId 1

D. % 3o A 1

Question Number : 175 Question Id : 59445934713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the reign of which of these dynasties were the "Kaikolar" community of weavers and merchants given more involvement in temple
administration and also land owning rights?



Options :

A. # Chera Dynasty

B. ¥ Chola Dynasty

C. # Pandya Dynasty
D. # Chalukya Dynasty

Question Number : 175 Question Id : 59445934713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH b ST & T b GRIF FADRI 3R SATUTRYI & "ehebIeR” THETY D1 HIGR YRR 3R 1Y H Y{H W1 SHfUbRI H
3ffere Hrfiard & g o

Options :

A. % TR ICER

B. ¢ dId ISIG

C. % Uisg oy

D. % IR IG

Question Number : 176 Question Id : 59445934714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term "jizya" or "kharaj-o-jizya" refers to which of the following:
Options :

A. # The procedure, trodden path or way of Prophet Mohammed

B. # A non-binding law passed by Islamic authority

C. ¥ A consensus within Muslim jurists on a particular legal issue.

D. ¥ A tax levied in the form of financial charge on non-muslim subjects by Islamic law.

Question Number : 176 Question Id : 59445934714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 forge Iecia ea i a1 "aRTe- 311-forear &Rl 5

Options :




A. % QTR g &1 Ulohd, HeH 3@ g3 Uy 1 AF|

B. % SXATH! 1 gRT UIRd T TR-STAHBRT B

C. ¥ UH [IRY ST Gg R GReH Irafde)l o Yiar 3y ggafd|

D. ¢ XA S gRT TR-GRaH fawat w faxiia e & U & v ST arel &R |

Question Number : 177 Question Id : 59445934715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the reign of which of these dynasties were private markets replaced with government run markets, with strict regulation of prices of all
goods?

Options :

A. ¥ Mamluk Dynasty
B. ¥ Khalji Dynasty
C. ¥ Sayyid Dynasty
D. # Lodhi Dynasty

Question Number : 177 Question Id : 59445934715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ¥ 9 Io76aR & ARFSTA H 5l IR &1 IRDR Harierd SR 9 dad [T T o7, forad et axgsil & gedl &1 Ied e o1

Options :

Question Number : 178 Question Id : 59445934716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these kings of the Reddy dynasty was highly unpopular because of levying high taxes?
Options :



A. ¥ Racha Vema Reddy

B. ®¥ Prolaya Vema Reddy
C. # Kotaya Vema Reddy
D. # Anavota Reddy

Question Number : 178 Question Id : 59445934716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

] ASTAY T B AT ST & HIRIYUT & HRUT SIS BT UT2
Options :

A. ¢ 1 AAT S

B. ¥ e qAT YS!

C. % DIcgT aHI g

D. # SIS

Question Number : 179 Question Id : 59445934717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these Buddhist monks addressed climate change at the United Nations in 2014?
Options :

A. ¥ Thich Nhat Hanh

B. ¥ Karmapa Ogyen Trinley Dorje

C. # Choje Akong Tulku Rinpoche

D. # Dalai Lama

Question Number : 179 Question Id : 59445934717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¥ T d g =1 2014 T Tga I B Saarg uikad $I Salerd fbar
Options :

A. ¢ fdo a1 g%



B. % AT 370 feTd qIof
C. ¥ BN TP gegp AU
D. ¥ TATs Ml

Question Number : 180 Question Id : 59445934718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Global Catholic Climate Movement (GCCM) was established under the leadership of which of the following Popes?

Options :

A. ¥ Pope Paul

B. #* Pope Benedict XVI
C. ¥ Pope Francis

D. * Pope John Paul I

Question Number : 180 Question Id : 59445934718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 forg 0u & Ada & 7dled HUlfeiss aemzie Yol &) R &1 T8 oY
Options :

A. % QIO U1

B. ¥ UIY §Hfgde XVI

C. ¥ UIU iRy

D. ¥ UIY S Ul 1
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Question Number : 181 Question Id : 59445934719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these philosophers put forward the view that to overcome environmental crisis, there needs to be the understanding that, "the whole of
nature is descended from higher spiritual realms'?

Options :

A. # Morteza Motahhari
B. ¥ Seyyed Hossain Nasr
C. # Ali Shariati

D. * Musa al-Sadr

Question Number : 181 Question Id : 59445934719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % AISHT HieTgs R

B. ¥ ¥E g9 T

C. % 3fclt TRt

D. * T 390G

Question Number : 182 Question Id : 59445934720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these historians put forward the view that western Christianity bears a "Burden of Guilt" for the contemporary environmental crisis?
Options :

A. #* John Robert McNeill

B. # William Cronon

C. #* Donald Worster

D. ¥ Lynn White, Jr.

Question Number : 182 Question Id : 59445934720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9 ford SfaseR A 39 faaR &1 9= @ & uftndt S91s o ausre qafaruiia e & forg " SioRTe &1 Sig 98- Hal o7
Options :

A. ¥ S (G B-id

B. % faferod ®HM

C. % SHIeS qxX

D. ¥ foH @18, PR

Question Number : 183 Question Id : 59445934721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The concepts of "Junzi" and "Ren" were put forward by:
Options :

A. ¥ Mencius

B. # Gaozi

C. ¥ Confucius

D. #* Dong Zhongshu

Question Number : 183 Question Id : 59445934721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"o SR A" BT SRS BT fheas gRT U=T fsam a7 -
Options :

A. * O

B. ® T

C. ¥ HUGREIY

D. ¥ ST

Question Number : 184 Question Id : 59445934722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these scholars is the author of the book "Liezi"?
Options :

A. * Wang Fu

B. ¥ Lie Yukou

C. # Xunzi

D. # Yan Hui

Question Number : 184 Question Id : 59445934722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH A B I fagH "ol gia® & a8 67

Options :




A ® 9 H
B. ¢ 08 g&I3
C. ¥ g

D. ® gHgs

Question Number : 185 Question Id : 59445934723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these Japanese philosophers can be credited with the blending of Shinto and Confucian beliefs before it was popularised in the 20th
century?

Options :

A. ¥ Hayashi Razan
B. * Ennin

C. * Nichiren

D. * Fujiwara Seika

Question Number : 185 Question Id : 59445934723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20T FraTect B BT BH ¥ Ugd 8 3 fodd ST RIS &1 RiST SR SRRt araarsit o fes/or o1 94 faan S 9 g2
Options :

A. ¢ BT TSI

B. % U3

C. % fAfrRA

D. % BHISIaRT Hieh!

Question Number : 186 Question Id : 59445934724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these monarchs can be credited with consolidating and unifying the Kingdom of Nepal as a region we know of today?
Options :



A. # Pratap Singh Shah
B. ® Rudra Shah

C. ¢ Prithvi Narayan Shah
D. * Nara Bhupal Shah

Question Number : 186 Question Id : 59445934724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¥ 5T quTe & AUTd TS &) U U &5 & U & JHfohd 3R ThIdd B BT A7 o S qahdT § F18 g7 311 el 82
Options :

A. % Yam g 218

B. ® ¥ e

C. ¢ G! AR ]

D. ®¥ RYUI Te

Question Number : 187 Question Id : 59445934725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these organisations made the first attempt to overthrow the monarchy in Nepal?
Options :

A. # Nepal Communist Party

B. ¥ Nepal Praja Parishad

C. # Nepali Congress

D. # Janata Samajbadi Party, Nepal

Question Number : 187 Question Id : 59445934725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 Y 6" Y A AuTd H USR8 1 Yere™ BT Ugal YAy fobar

Options :

A. % 0Td HRYFRE Tt



B. ¢ HUTd U URYG
C. ® 9UTelt B
D. ® SdT gHTSIAIE! Uret, Sura

Question Number : 188 Question Id : 59445934726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the massacre of the royal family of Nepal take place?
Options :

A. % 1991

B. # 1990

C. #1996

D. ¥ 2001

Question Number : 188 Question Id : 59445934726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for v H AUT & XMeT URAR &1 AHRH &1 g3 UT?
Options :

A. % 1991

B. # 1990

C. #1996

D. ¥ 2001

Question Number : 189 Question Id : 59445934727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Donoughmore Commission reforms in Sri Lanka were passed in the year:
Options :

A. #1911

B. % 1921

C. ¥ 1931



D. ¥ 1941

Question Number : 189 Question Id : 59445934727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ficiepT H SR STAIRT YR forg a8 H Uik fosy 7T 2
Options :

A. % 1911

B. ¥ 1921

C. ¥ 1931

D. # 1941

Question Number : 190 Question Id : 59445934728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Sinhala Only Bill" came into effect under the leadership of:
Options :

A. ¥ S WR.D. Bandaranaike

B. # Dudley Senanayake

C. # Sir John Kotelawala

D. * Wijeyananda Dahanayake

Question Number : 190 Question Id : 59445934728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fobgds g H "Rigar siiHel fora gy & S
Options :

A. ¢ T S&Y IR.Sl. YISRATSD



Question Number : 191 Question Id : 59445934729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these organisations unanimously ruled Sri Lanka guilty of genocide against Tamils in 2013?
Options :

A. # UNROW Human Rights Impact Litigation Clinic

B. ¥ Permanent People's Tribunal

C. # Human Rights Watch

D. # Amnesty International

Question Number : 191 Question Id : 59445934729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S8 9 o TTT6H A 2013 H Faqmfd I SicidT & dfidl & R RAgR &1 Nt sex/m
Options :

A. % UNROW BgHA Y3y sHiae fafenieH faafie

B. ¢ RAM Uluay fesg=a

C. ® ggHAVSCH dM

D. ¥ THRC] UM

Question Number : 192 Question Id : 59445934730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Operation Dragon King" (1978) was a military operation conducted by the government of Myanmar which adversely affected which of these
minority groups?

Options :

A. ¥ Bamar

B. ¥ Rohingya

C. ¥ Mon

D. # Kachin



Question Number : 192 Question Id : 59445934730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HITRRA G BT (1978) TIFAR IRPR gRT aATerd Ueb -9 I T, e $9H 9 o sfeeieid g WR Uiige UHTd ST
Options :

A. ® g

B. ¢ g

C. % O

D. ¥ &

Question Number : 193 Question Id : 59445934731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following leaders allied Thailand with Imperial Japan during World War I1?
Options :

A. # Prayoon Pramornmorti

B. # Pridi Banomyong

C. ¢ Plack Phibunsongkhram

D. #* Phraya Songsuradet

Question Number : 193 Question Id : 59445934731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 food a1 A gl fay g & SR UIRAUS &I RMT61 STUH & 91y dag [

Options :

A. ® UG gEHgfd
B. # S aHMI=T
C. ¥ W% hg~ITeR™
D. * THTT QIR ed

Question Number : 194 Question Id : 59445934732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Vietnam ceased to be a colony of France after the battle of:
Options :

A. ¥ Dien Bien Phu

B. # Beatrice

C. # Na San

D. # Mang Yang Pass

Question Number : 194 Question Id : 59445934732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®F Y GG & dIG [T Wik &1 IU-a 8] XgT:
Options :

A Y SERED

B. ¥ digigyd

C. % {71494

D. ® T AT oRf

Question Number : 195 Question Id : 59445934733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these countries is not a member of the ASEAN?
Options :

A. ¥ East Timor

B. #* Singapore

C. # Brunei

D. # Thailand

Question Number : 195 Question Id : 59445934733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ T4 iR

B. * RFMTR

C. % s

D. ¥ YIEATS

Question Number : 196 Question Id : 59445934734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The "Satyashodak Sama;j" was founded by:
Options :

A. # Bhimrao Ramji Ambedkar

B. ¥ Jyotirao Phule

C. # Bal Gangadhar Tilak

D. * Dadabhai Naoroji

Question Number : 196 Question Id : 59445934734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"HIRNYD FHTS" B RITIT fordids gRT &1 7T ot
Options :

A. % YIFRIG IHel S

B. ¢ SIftR1d Bl

C. ® §1d TmeR facies

D. % GIGIHTS ARGl

Question Number : 197 Question Id : 59445934735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The judgement on which of these cases by the Supreme Court deals with equal rights to succession of property irrespective of gender?



Options :

A. # Shreya Singhal vs Union of India
B. # Vishaka vs State of Rajasthan

C. ¥ Mary Roy vs State of Kerala

D. # Lily Thomas vs Union of India

Question Number : 197 Question Id : 59445934735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 3 e e R gdt <amarad gR1 fean man fofy, i &1 trarg ot fomm duft & SRIfeR & 9am sifteri 3 Jeftrd g2
Options :

A. % 91 Rigd 991 YRd I9

B. % [RRal S99 SRYM Y

C. ¢ B AT F9H I I

D. % forcll YT §9H YRd 99

Question Number : 198 Question Id : 59445934736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these commissions was set up to identify "socially or educationally" backward classes for the purpose of seat reservation or quotas?

Options :

A. % Khosla Commission

B. ¥ Mandal Commission
C. # Sarkaria Commission

D. #* U.C Bannerjee Commission

Question Number : 198 Question Id : 59445934736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T Q DI T 3NT e AR AT HIcT b I J "1 1 Aeifrd =0 A fIss a7 o1 Uga - & fae wifoa fosar mar ume

Options :



A. * GG 3R
B. ¥ HSd 3MANT
C. % TRDIRAT TART
D. ® g4 §o1 TN

Question Number : 199 Question Id : 59445934737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Hindu Marriage Act" which provides women with equal rights to divorce, remarry and also prohibits polygamy, polyandry and child
marriage was passed in the year:

Options :
A. % 1954
B. # 1956
C. # 1961
D. ¥ 1955

Question Number : 199 Question Id : 59445934737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ieg fqarg sififromy S afgensht &1 qare, gAfdarg & T SR UaH HRdl § 3R 9gfaare, dgufdd iR a1d farg & +f ufasfia
ol g, 7o au & urfa fasar mmar ar:

Options :

A. % 1954

B. ¥ 1956

C. % 1961

D. ¥ 1955

Question Number : 200 Question Id : 59445934738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of scholars of the Islamic Golden Age has often been called - founder of ideology, father of comparative religion and the first
anthropologist in India?



Options :

A. # Ibn Sahl

B. ¥ Al-Biruni

C. # Abu Hamid Al-Ghazali
D. # Al- Baqillani

Question Number : 200 Question Id : 59445934738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® 3¢ TR
B. ¥ 3d 9%t
C. * 3 I 3re-TeTlfer
D. # 3fdi-sfeberrl
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Question Number : 201 Question Id : 59445934739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these individuals filed a writ petition for the preservation and protection of the Taj Mahal in 1986, commonly known as the "Taj
Trapezium Case"?

Options :

A. # Ajit Kumar Bannerjee
B. ® Vandana Shiva

C. % Sunderlal Bahuguna
D. ¥ M.C. Mehta

Question Number : 201 Question Id : 59445934739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Eﬁgﬁv_ﬂwﬁﬁ1986ﬁW$W&M@TW&M$WWﬁ?WWﬁ,WSWW"W@WW"W@W
olldl g7

Options :

A. ¥ 3STd HUR I

B. # g fRrar

C. ® {a¥dlcf ogJul

D. ¥ TH L Hgdl



Question Number : 202 Question Id
Orientation : Vertical

: 59445934740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
When was the Deccan Agriculturists’ Relief Act passed?

Options :
A. ¥ 1879
B. # 1895
C. #1880
D. % 1885

Question Number : 202 Question Id
Orientation : Vertical

: 59445934740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
G HYD Jgd HIATIH Hd g1k fobar T U1?

Options :
A. ¥ 1879
B. # 1895
C. % 1880
D. % 1885

Question Number : 203 Question Id
Orientation : Vertical

: 59445934741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who wrote the book ‘Poverty and Un-British Rule in India'?

Options :

A. # Madam Cama

B. # Jawaharlal Nehru
C. ¥ Dadabhai Naoroji
D. # Adam Smith

Question Number : 203 Question Id

: 59445934741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

forem arac Us oM-fafewr wa g 2fear geas fordt 82
Options :

A. % HSH B

B. ¥ SAIERATd A%

C. ¢ GIGIHTS RIS

D. % TsH Y

Question Number : 204 Question Id : 59445934742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the first Famine commission set up?
Options :

A. ¥ 1878

B. ¥ 1868

C. % 1879

D. # 1865

Question Number : 204 Question Id : 59445934742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg oy ® UGl SihTal STANT T fobam T U1
Options :

A. ¥ 1878

B. # 1868

C. % 1879

D. # 1865

Question Number : 205 Question Id : 59445934743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The First railway train ran between
Options :

A. ¥* Bombay to Pune

B. #* Pune to Thane

C. ¢ Thane to Bombay

D. ®* Thane to Vasai

Question Number : 205 Question Id : 59445934743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EESIRSUISIECSE) EEIEENE
Options :

MR- CER R

B. % QUI 4 [0

C. ¥ 30 Y das

D. % 370 ¥ a5

Question Number : 206 Question Id : 59445934744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the chairman of the Second Famine Commission?
Options :

A. # Sir Philip Hartog

B. # Sir John Seeley

C. # Sir Richard Strachey

D. ¥ Sir James Lyall

Question Number : 206 Question Id : 59445934744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI fgcir 3fpTd ST & 3rezef U2



Options :

A. % IR fipforg gref
B. ¥ TR Sl dlelt

C. # W =s Tt
D. ¥ W O A

Question Number : 207 Question Id : 59445934745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who wrote the 'Economic history of India'?
Options :

A. # Dadabhai Naoroji

B. # William Digboy

C. # Chandulal Nagindas Vakil

D. ¥ Romesh Chunder Dutt

Question Number : 207 Question Id : 59445934745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o uRd &1 3 sfaer forar ut?
Options :

A. % TIETHTS RIS

B. # fafergw femema

C. % Irgald -GN dbidl

D. ¥ IR &

Question Number : 208 Question Id : 59445934746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not one of the basic elements of activating, sustaining, nourishing, and maintaining the life-principle?
Options :



A. % vata
B. # pitta
C. ¥ jal

D. #* kapha

Question Number : 208 Question Id : 59445934746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafead & @ ®1F shar-Rigid & Gfehg A, 99718 a4, T S 3R 918 T4 & Jol Il 3 § T 8l /2
Options :

A. % dId

B. ¥ fUd

C. ¥ 9d

D. # &b

Question Number : 209 Question Id : 59445934747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first evidence of metal in the Indian subcontinent was at
Options :

A. ¥ Aravalli

B. ¢ Baluchistan

C. # Deccan

D. # Bihar

Question Number : 209 Question Id : 59445934747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR IUHGTGIY H 4T o1 Ugell JHT0l TR Tl

Options :

A. % 3RTGA!



B. ¢ ScIfad™
C. ® Gap
D. # fd8R

Question Number : 210 Question Id : 59445934748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who compiled a work in the field of Biology entitled Mrga-paksi-sastra in the thirteenth century?
Options :

A. ¥ Narayana Pandit

B. # Narsimha Daivajna

C. # Ganesa Daivajna

D. ¥ Hamsadeva

Question Number : 210 Question Id : 59445934748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem dRgd Trdtee) H oifd fas & & & TN-Ueh-<IRd 1 & U &1 Yha [T
Options :

A. % AR Yyfugd

B. ® Ry ¢aq

C. % O Ay

D. ¥ gRICd

Question Number : 211 Question Id : 59445934749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who taught the Indian crafts persons the technique of production of gunpowder?
Options :

A. ¥ Mughals

B. ¥ Marathas



C. # Mauryans
D. # Aryans

Question Number : 211 Question Id : 59445934749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P URATT RIcueR] &1 IRee 991 B dp-ild RIAg?

Options :
A. ¥ HIId
B. # W31
C. % O
D. % 3

Question Number : 212 Question Id : 59445934750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was titled Jalinoos al-Zaman by Akbar?
Options :

A. # Hakim Alavi Khan

B. ®# Hakim Zainuddin Ibrahim Ismail

C. # Hakim Nooruddin Abdulla

D. ¥ Hakim Ali Gilani

Question Number : 212 Question Id : 59445934750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3HeR gRT fohd STeH S1el-STHH 1 Radre faam o
Options :

A. ¥ EHIH 3dd] W

B. ¥ BHIH SIIE I SHIGH SHIS

C. ¥ DM ORI Sfegeetl




D. ¢ gobIH 3fefl firamt

Question Number : 213 Question Id : 59445934751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Mabo Decision made in Australia?
Options :

A. * 1998

B. ¥ 1992

C. #1982

D. # 1989

Question Number : 213 Question Id : 59445934751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SffecTerar & Ara! fAuia we forar mam Ut
Options :

A. #1998

B. ¥ 1992

C. % 1982

D. * 1989

Question Number : 214 Question Id : 59445934752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The American Indigenous inhabitants lost their natural right to that land after who arrived and claimed it?
Options :

A. # Chinese

B. ¥ Europeans

C. #* Russians

D. # Africans



Question Number : 214 Question Id : 59445934752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foridh 311 & TG 3R STHIF TR GIaT 6 & 91 SRS Sfear a7 39 Yff IR 3O Ui fas feR @i faam
Options :

A. % T

B. ¥ QR4

C. % &I

D. ¥ 3{tplichdl

Question Number : 215 Question Id : 59445934753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is one of the "Five Civilized Tribes"?
Options :

A. ¥ Choctaws

B. ¥ Angami

C. # Apache

D. # Chenchu

Question Number : 215 Question Id : 59445934753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed @ 3 oF uia w9 Seefadl 3 9§ T g2
Options :

A. ¢ dlacTey

B. % 3Tl

C. % 3{Or=t

D. ¥ I

Question Number : 216 Question Id : 59445934754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the indigenous hunter-gatherer group of Angola.
Options :

A. ¥ Batwa

B. ¥ San

C. # Tuareg

D. * Nuer

Question Number : 216 Question Id : 59445934754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TIeTT o ST FRIGRI-ThRER HYg &1 14 Jdrsu |
Options :

A. % dcdf

B. ¥ -

C. % 3R

D. # X

Question Number : 217 Question Id : 59445934755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an indigenous group of Japan?
Options :

A. ¥ Yaka

B. # Somalis

C. ® Maasai

D. ¥ Ainu

Question Number : 217 Question Id : 59445934755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafefad & @ &5 SaH o1 snfeard T9g 82
Options :

A. % g%

B. # TTferal

C. % TN

D. ¥ U]

Question Number : 218 Question Id : 59445934756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Santhal Rebellion start?
Options :

A. ¥ 1855

B. # 1859

C. % 1845

D. # 1852

Question Number : 218 Question Id : 59445934756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T [I5IE Ha L= gam

Options :

A. ¥ 1855

B. # 1859

C. % 1845

D. # 1852

Question Number : 219 Question Id : 59445934757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which tribal community claimed to be 'Sapha Hor'?



Options :

A. ¥ Kherwars
B. # Angami
C. # Kodava
D. # Garo

Question Number : 219 Question Id : 59445934757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fobg snfeardt Tgar = w1 R 814 &1 aral fabar
Options :

A. ¢ 9d8T

B. % 3Tt

C. % Dlsq

D. ¥ 7RI

Question Number : 220 Question Id : 59445934758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who raided the Barhait market place which was also the residence of the moneylenders?
Options :

A. # Bhils

B. ¥ Santals

C. % Munda

D. * Gonds

Question Number : 220 Question Id : 59445934758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fh g SRec TR T B1YT ORI Sl BRI o1 (Har of ur

Options :



A. % id
B. ¢ IIYTA
C. % gal
D. ¥ Tig

Discipline?
Group Number : 12
Group Id : 594459757
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline7
Section Id : 5944591479
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591712
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 59445934759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which tribe did Birsa belong to?
Options :

A. # Kol

B. # Oraons

C. # Hos

D. ¥ Mundas

Question Number : 221 Question Id : 59445934759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg StomTfal & foa Heifdd 82
Options :

A. % DI

B. ¥ 39

C. % g

D. ¥ HU&]

Question Number : 222 Question Id : 59445934760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was Nij-abad?

Options :

A. ¥ A form of indigo cultivation

B. # A tribal community

C. # A zamindar community

D. # A type of indigo plantation

Question Number : 222 Question Id : 59445934760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



[BEECICIFEIRI b

Options :

A. ¢ ST o Wt BT TH =Y
B. ¥ Teh ST GG

C. % U THIGR TG

D. % ST &I Wl BT TH UHR

Question Number : 223 Question Id : 59445934761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was not a part of the Kol insurrection of 1832-33?
Options :

A. #* Hos

B. # Oraons

C. ¥ Toto

D. * Mundas

Question Number : 223 Question Id : 59445934761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o 9 & 1832-33 & BIdl [dsig &1 gl g1 U1?
Options :

A. % g

B. ¥ 34

C. ¥ Tl

D. % HaI

Question Number : 224 Question Id : 59445934762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the first Kherwar movement take place?



Options :
A. * 1882
B. # 1892
C.¥ 1874
D. # 1862

Question Number : 224 Question Id : 59445934762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ugcll WRAR 3Hicia S g3l Ul
Options :

A. % 1882

B. % 1892

C. ¥ 1874

D. # 1862

Question Number : 225 Question Id : 59445934763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who included woman upliftment as an important part of the Congress constructive programme?
Options :

A. % Jawaharlal Nehru

B. ¥ Bina Das

C. % Kalpana Dutt

D. ¥ Mahatma Gandhi

Question Number : 225 Question Id : 59445934763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

form AR ST DI BV & THTHS HIAHH & Hedqul I & &Y H A fHar

Options :
A. ¥ SR A8




B. ¥ ST T
C. % HegdTad
D. ¢ HgT&T el

Question Number : 226 Question Id : 59445934764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who started Central Hindu College at Varanasi?
Options :

A. ¥ Dr. Annie Besant

B. # Lila Roy

C. # Indumati Sinha

D. ¥ Ramabai Pandita

Question Number : 226 Question Id : 59445934764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore IRTU H ety feg AgTidaerd & foan
Options :

A VY ST EAT

B. ¥ il

C. ® gghql Rgr

D. % JTSTS U

Question Number : 227 Question Id : 59445934765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was Sarojini Naidu also called?
Options :

A. % Poetess of India

B. # Ba



C. ¢ Bharat Kokila
D. * Dynamite of Freedom

Question Number : 227 Question Id : 59445934765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS ARG D1 37 b 18 T ST SITell U2
Options :

A. ¥ HRd DI HafE

B. # d

C. ¢ YRd el

D. ® Igd7dl BT AR

Question Number : 228 Question Id : 59445934766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the first Indian Woman Chief Minister.
Options :

A. ¥ Sucheta Kriplani

B. # Kalpana Dutt

C. # Bina Das

D. # Rama Devi

Question Number : 228 Question Id : 59445934766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U YR Afgal G &1 =19 ddisU|

Options :

A. ¢ A U



D. ® YT <!

Question Number : 229 Question Id : 59445934767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who led a group of salt law breakers to Marina Beach at Madras?
Options :

A. # Violet Alva

B. ¥ Durgabai Deshmukh

C. * Hema Prabha

D. *# Ramabai Pandita

Question Number : 229 Question Id : 59445934767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhT TP BT B die- & UG bl UM & TR did dob Ugarn
Options :

A. ® GIOAC 3fcdl

B. ¥ giaTs aRHE

C. % GHI UM

D. % IATETS UfSd

Question Number : 230 Question Id : 59445934768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which organization did Indira Gandhi found, at the age of 12?
Options :

A. # Sri Sangha

B. ¥ Women’s Indian Association

C. # Mahila Satyagraha Sangh

D. ¥ Vanar Sena



Question Number : 230 Question Id : 59445934768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 98 Bt Mg H, T ieft 3 D1 T T B} RITTAT B2
Options :

A. % i ¥y

B. % Hfgdl HRdT Idu

C. ¥ Higell IATIE ¥4

D. ¢ TR AT

Question Number : 231 Question Id : 59445934769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who discovered the direct maritime route to Asia round the Cape of Good Hope?
Options :

A. #* Christopher Columbus

B. ¥ Vasco da Gama

C. # Amerigo Vespucci

D. * Zheng He

Question Number : 231 Question Id : 59445934769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg Y It TS BT & YUY TR & fore A1 Felt 7Nl b1 @il fobg bt i
Options :

A. % fHEIER Bleay

B. ¢ gIep! & TH

C. % AR a¥g!

D. ¥ YTE



Question Number : 232 Question Id : 59445934770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who captured Goa from the Bijapur Sultan in 1510?
Options :

A. ¥ Afonso de Albuquerque

B. # Tristdo da Cunha

C. # Jodo daNova

D. * Antonio de Abreu

Question Number : 232 Question Id : 59445934770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1510 H e dISITgR Yea= ¥ Tia1 R dheal [T Y12
Options :

A. ¢ MBI 8T Sfcgd

B. % fd& 1Pl

C. * Sre{13f ST HIam

D. ¥ I S ofsi3

Question Number : 233 Question Id : 59445934771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the raison d’étre of the Portuguese Asian trade ?
Options :

A. #* Cumin

B. ¥ Saffron

C. ¥ Pepper

D. ¥ Nutmeg

Question Number : 233 Question Id : 59445934771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TTTTeR TS STR &7 X i aRT T 2
Options :

A. % ST

B. % B

c. ¢ fid

D. ® SIhd

Question Number : 234 Question Id : 59445934772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which system was every Asian ship required to take a passport from the Portuguese?
Options :

A. # Imposto system

B. # Papel system

C. # Qafila system

D. # Cartaz system

Question Number : 234 Question Id : 59445934772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o gUT & ded T URITS SIgTS! ! GeIierd ¥ UIRIUIe ol SHTavdd dT?
Options :

A. ¥ SHORS U1

B. ® UUQ Ul

C. % Il gl

D. ¢ &elel Uyl

Question Number : 235 Question Id : 59445934773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the 15th century who filled in the trade gap left by the Chinese in the east?
Options :

A. ¥ Gujarati

B. ¥ Maratha

C. # Rajput

D. # Bengali

Question Number : 235 Question Id : 59445934773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1591 TraTsd] # gd § A gR1 318 7Y AR SfaRTd & [ HRI?
Options :

A. ¢ ORIl

B. % W31

C. # NYd

D. # STt

Question Number : 236 Question Id : 59445934774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was Dutch East India Company established?
Options :

A. ¥ 1602

B. # 1600

C. % 1604

D. # 1598

Question Number : 236 Question Id : 59445934774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for v U S9 53¢ Sfear ot ol R g8 At

Options :



A. ¥ 1602
B. # 1600
C. % 1604
D. #¥ 1598

Question Number : 237 Question Id : 59445934775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who presided the Karachi Congress Session, 19317
Options :

A. # Rajendra Prasad

B. ¥ Sardar Vallabhbhai Patel

C. ® Mahatma Gandhi

D. # Jawaharlal Nehru

Question Number : 237 Question Id : 59445934775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o It BN SR, 1931 DT LI B2
Options :

A. % oI UG

B. ¥ IGR JedHHTS Ucd

C. % Ogra el

D. ¥ JAgRAd "g®

Question Number : 238 Question Id : 59445934776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was sponsored by Congress to promote planning as an instrument of integrated and comprehensive development?
Options :

A. ¥ Bombay Plan



B. # Second Five Year Plan
C. ¥ Resolution on Fundamental Rights and Economic Programme

D. ¥ National Planning Committee

Question Number : 238 Question Id : 59445934776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UhId 3R ATUS fAHr & e & =0 H FHae & dg1a1 31 & e w1 g1 Fafafaa & 9 fe uraifsa faan man e
Options :

A. ¥ §98 GIoT

B. # fgdig daadfa giemr

C. ® Aifeie AfIBR 3R i SripH W JHeu

D. ¢ P Ao FiAfd

Question Number : 239 Question Id : 59445934777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When were the Hindu Code Bills passed?
Options :

A. ¥ 1950s

B. # 1960s

C. # 1940s

D. # 1970s

Question Number : 239 Question Id : 59445934777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feg P fad o uiikd foar mar um
Options :

A. ¥ 1950s

B. # 1960s




C. # 1940s
D. * 1970s

Question Number : 240 Question Id : 59445934778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the constitution of India came into force?

Options :

A. # 15-Aug-50

B. # 15-Aug-47

C. ¥ 26-Jan-50

D. # 26-Jan-47

Question Number : 240 Question Id : 59445934778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR BT GG DHd a1 §3HT?
Options :
A. # 15-HTMd-50
B. ¥ 15-3Hd-47
C. ¢ 26-SHa1-50
D. ¥ 26-Sa’1-47

Discipline8
Group Number : 13
Group Id : 594459758
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline8

Section Id : 5944591480

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944591713

Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 59445934779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which year did the the British government send a Cabinet Mission to India?
Options :

A. #1945

B. # 1947

C. % 1950

D. ¥ 1946

Question Number : 241 Question Id : 59445934779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o 7 fafew TR A URA # Sfge fFr=r e U




Options :
A. * 1945
B. # 1947
C. #1950
D. ¥ 1946

Question Number : 242 Question Id : 59445934780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the Constituent Assembly of India begin its first session?
Options :

A. # 12-Sep-46

B. ¥ 9-Dec-46

C. # 12-Sep-47

D. # 9-Dec-47

Question Number : 242 Question Id : 59445934780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A e I 9 3{UHT Ugdl 95 Hdl L= b
Options :

A. % 12-R4deR-46

B. ¢ 9-fddaR 46

C. ¥ 12-RideR-47

D. ¥ 9-fqgar-47

Question Number : 243 Question Id : 59445934781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who drafted the Objectives Resolution?
Options :

A. ¥ Rajendra Prasad



B. # Sardar Vallabhbhai Patel
C. % Mahatma Gandhi
D. ¥ Jawaharlal Nehru

Question Number : 243 Question Id : 59445934781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for e IER Taved T FGT AR foar om?
Options :

A. % ol% UG

B. ¥ WRGR IJEIHHTS e

C. ® T il

D. ¥ SATedId "g®

Question Number : 244 Question Id : 59445934782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who made the 25th and 42nd Amendment?
Options :

A. # Rajiv Gandhi

B. # Jawaharlal Nehru

C. ¥ Indira Gandhi

D. # Rajendra Prasad

Question Number : 244 Question Id : 59445934782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
farem 25at SR 4201 T=NEH THT U2
Options :

A. % Toitg gt

B. ¥ SdIEdd 18




. ¢ gfa et
D. # 3ol UG

Question Number : 245 Question Id : 59445934783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who wrote the monograph, "The Early History of the Deccan' in 18847
Options :

A. # Radha Kumud Mujkharji

B. ¥ Ramakrishna Gopal Bhandarkar

C. # Romesh Chunder Dutt

D. # Kashi Prasad Jayaswal

Question Number : 245 Question Id : 59445934783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohe 1884 H AW, g 3fail fgxe! 311 & Gadh-T forar U1
Options :

A. % YT G HolRERol!

B. ¢ JHHY] MUTA YISRHR

C. % TS &

D. * PR UG g

Question Number : 246 Question Id : 59445934784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the author of the book: A history of the Mahrattas.
Options :

A. ¥ Mountstuart Elphinstone

B. # Henry Elliot

C. # John Stuart Mills



D. ¥ Grant Duff

Question Number : 246 Question Id : 59445934784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qe U 3 3iith § IRISN & 1@ ol 1Y Jargy |
Options :

A. % TT3CIIIC Ufethe

B. % g1 sferie

C. ® - ¥gac Hd

D. ¥ Uic %

Question Number : 247 Question Id : 59445934785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who set up the Bihar and Orissa Research Society in 1914?
Options :

A. # Romesh Chunder Dutt

B. # Radha Kumud Mujkharji

C. ¥ Kashi Prasad Jayaswal

D. # Rajendra Prasad

Question Number : 247 Question Id : 59445934785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1914 H fER SR IS ST THIS &I RITGT H12
Options :

A. % U=

B. * JUIHHS Gasil (

C. ¥ B gTe SgEare

D. % 3ol U8




Question Number : 248 Question Id
Orientation : Vertical

: 59445934786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who wrote the book, The History of India, as Told by its Own Historians?

Options :

A. # Mountstuart Elphinstone
B. ¢ Henry Elliot

C. # John Stuart Mills

D. # Grant Duff

Question Number : 248 Question Id
Orientation : Vertical

: 59445934786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

frem T R 3iftp Sfean, Tt cice a1 3y oiF e iRaw 9 &1 g fordt 82

Options :

A. ® A3 Uethed
B. ¥ 8X1 sferde

C. ¥ S ¥gac ia

D. % Y SHh

Question Number : 249 Question Id
Orientation : Vertical

: 59445934787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who among the following is a Marxist Historian?

Options :

A. ¥ Romilla Thapar
B. # William Jones
C. # James Princep

D. # Alexander Cunningham

Question Number : 249 Question Id

: 59445934787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fgfefad & ¥ o Aredard! sfag-ae 82
Options :

A. ¢ AT UTR

B. % faferow Sikg

C. % Sy iy

D. ¥ 3fcidiex Hiagd

Question Number : 250 Question Id : 59445934788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who wrote Indian Feudalism (1966)?
Options :

A. ¥ Ram Sharan Sharma

B. ¥ Radha Kumud Mujkharji

C. ¥ Mahatma Gandhi

D. # Damodar Dharmananda Kosambi

Question Number : 250 Question Id : 59445934788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e YR Im=aare (1966) forar um?
Options :

A. ¢ JHRRUT A

B. ¥ YT $YE ool

C. % HGTHT el

D. % g yHi< Hraw

Question Number : 251 Question Id : 59445934789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a sigillographic resource?
Options :

A. # Seals

B. # Medals

C. ¥ Paintings

D. # Coins

Question Number : 251 Question Id : 59445934789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafea 3 3 oF Rifemee w9 761 82
Options :

A. % I}

B. # Uad

C. ¥ Rl

D. ¥ f¥de

Question Number : 252 Question Id : 59445934790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a method of fabrication of sources?
Options :

A. ¥ interpolation

B. % rational approach

C. % keen observation

D. # dexterity of attention

Question Number : 252 Question Id : 59445934790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 9 eH-a1 Jidl & i @) e A g2



Options :

A. ¢ 3qaTH

B. ¥ IfUd qud

C. % YD 3faciin
D. % &I $1 HYorar

Question Number : 253 Question Id : 59445934791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Regional, national, continental and universal history are types of history based on

Options :

A. #* approach

B. # time

C. # gpecial interest

D. ¥ territory

Question Number : 253 Question Id : 59445934791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&, AP, AETEIUN SR Wit Sfoer TR 3T 3fdgr™ & TR g
Options :

A. % Ugd

B. # JHY

C. % fay =f

D. ¥ &

Question Number : 254 Question Id : 59445934792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does theocratic history include?
Options :



A. % world affairs
B. ¥ religious beliefs
C. # social issues
D. # cultural life

Question Number : 254 Question Id : 59445934792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e sfagra & =i 8

Options :

A. # 3% A

B. ¢ HTTHD SHTRT

C. % ISP e,

D. # YiHIdD Siiad

Question Number : 255 Question Id : 59445934793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which community contributed to the establishment of a Babylonian empire in Mesopotamia?
Options :

A. # Hittites

B. ¥ Amorites

C. # Moabites

D. # Canaanites

Question Number : 255 Question Id : 59445934793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o<y TR A TAGCTAT & Seidi-ar ISa St RITGAT H e fam U
Options :

A. % B AN



B. ¥ TAIRAL
C. % Ha(rail
D. ® ML

Question Number : 256 Question Id : 59445934794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who became the ruler of the Achaemenid empire in 522 BC?
Options :

A. ¥ Darius |

B. # Hystaspes

C. # Cambyses II

D. # Cyrus

Question Number : 256 Question Id : 59445934794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

522 391 qd H SR WTHTSY BT UAMH DI &1
Options :

A. ¥ SRE9T

B. % fgewy

C. % DI 11

D. # g™

Question Number : 257 Question Id : 59445934795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does Babylon mean?

Options :

A. # Land of the Gods

B. * House of the Gods



C. * World of the Gods
D. % Gate of the Gods

Question Number : 257 Question Id : 59445934795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qTford &1 3 3 g2

Options :

A. % gadrsfi o1 Yy

B. % a3l &I W

C. % gaarsll &1 gHa

D. ¢ ¢adI3f BT gR

Question Number : 258 Question Id : 59445934796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What were Lydian silver and gold coins called?
Options :

A. % Darics

B. # Shekels

C. ¢ Light Croeseids

D. # Minae

Question Number : 258 Question Id : 59445934796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forfSam Tt ofR TIF & Riad! &1 1 gl STl AT
Options :

A. # SIRed

B. % Rl

C. ¥ 13C PIUySY



D. % A

Question Number : 259 Question Id : 59445934797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was king Astyages overthrown by?
Options :

A. # Cyaxares

B. ¥ Cyrus

C. # Nebuchadnezzar II

D. # Cambyses

Question Number : 259 Question Id : 59445934797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3T Bl fbddh gRT IR foban 1am U2
Options :

A. ® TN

B. ¥ Iy

C. % gheA R 11

D. % RN

Question Number : 260 Question Id : 59445934798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the official language of the Achaemenid elite?
Options :

A. ¥ 0Old Persian

B. # Hebrew

C. # Urdu

D. # Arabic



Question Number : 260 Question Id : 59445934798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THAAS NS avf 1 i1 HIeT o ot

Options :

A. ¢ U BRI
B. % fgg
C. % 3g

D. # 3Rdl
Discipline9
Group Number : 14
Group Id : 594459759
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline9
Section Id : 5944591481
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 5944591714
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 59445934799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is responsible for approximately half of the world’s expenditure on armament(as of 2020) ?
Options :

A. # China

B. # Russia

C. ¥ United Sates of America

D. # Australia

Question Number : 261 Question Id : 59445934799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T ST IRABIUT TR ATT P TTHT 1Y W b fore /AER 8 (2020 TF)?
Options :

A. % T

B. # ¥4

C. ¥ Ugad o AR

D. % 3fiecferan

~

Question Number : 262 Question Id : 59445934800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a multilateral financial institution?
Options :

A. # International Monetary Fund

B. # the World Bank



C. # the World Trade Organization
D. ¥ the United Nations Organization

Question Number : 262 Question Id : 59445934800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafea # 3 @ sguelia faxdia Swm T8 2

Options :

D. ¢ {gad 1Y WA

Question Number : 263 Question Id : 59445934801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a part of the imperial triad?
Options :

A. ¥ India

B. # United Sates of America

C. # Japan

D. #* European Union

Question Number : 263 Question Id : 59445934801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A & 9 @19 el 74 &1 o 81 &2
Options :

A. ¥ HRd

B. ¥ Yo I AR

C. ® N4



D. ¥ RIUY IY

Question Number : 264 Question Id : 59445934802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does mondialization mean?
Options :

A. % urbanization

B. ¥ globalization

C. # industrialization

D. * modernization

Question Number : 264 Question Id : 59445934802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qIOT T HIFS TS oIR T o 312 32
Options :

A. ¥ ERIHI

B. ¢ Jafiemrur

C. % il

D. ¥ 3YHHIDHRUT

Question Number : 265 Question Id : 59445934803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is an Indian Marxist?
Options :

A. * Bina Agarwal

B. # Dilip Abreu

C. * Yoginder Alagh

D. ¥ Prabhat Patnaik



Question Number : 265 Question Id : 59445934803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafad # 3 & $feg ARl g2
Options :

A. % ST 3aTe

B. ¥ f&aiiy 3/

C. * TR 3relTy

D. ¥ UHId UCqdh

Question Number : 266 Question Id : 59445934804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is considered as the highest form of capitalism?
Options :

A. # Liberalism

B. # Realism

C. ¢ Imperialism

D. # Marxism

Question Number : 266 Question Id : 59445934804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fod Lj\\flnldld DI SdH =Y HIAT SIId] %‘?
Options :

A. # 3aRdldlg

B. % gUrfarg

C. ¥ {qiingdiq

D. % HIRdIG




Question Number : 267 Question Id : 59445934805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which period is referred to 'the twenty years’ crisis'?
Options :

A. ¥ 1919-1939

B. # 1900-1920

C. # 1929-1949

D. # 1925-1945

Question Number : 267 Question Id : 59445934805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forr 3afd o1 &I a¥ 1 Ydhe HET A1l 52
Options :

A. ¥ 1919-1939

B. # 1900-1920

C. % 1929-1949

D. # 1925-1945

Question Number : 268 Question Id : 59445934806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who identified imperialism as the highest form of capitalism?
Options :

A. ¥ Vladimir Lenin

B. #* Friedrich Hegel

C. # Karl Marx

D. * Thomas Hobbes

Question Number : 268 Question Id : 59445934806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fh g AETTdIE B1 Ysildig & I=dH U & =g H UgaHI?
Options :

A. ¢ TMGHR AfA
B. * Thfged §7d
C. ® FHId AT
D. # CTHY gy

Question Number : 269 Question Id : 59445934807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who coined the term ‘Mercantilism’?
Options :

A. % John Kay

B. # James Hargreaves

C. % Edmund Cartwright

D. ¥ Adam Smith

Question Number : 269 Question Id : 59445934807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feh g aftrepaTe Wee QI

Options :

C. % USHS PICISC
D. ¢ TSH [y

Question Number : 270 Question Id : 59445934808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Spinning jenny was invented by
Options :

A. #* Eli Whitney

B. ¥ James Hargreaves

C. # Samuel Crompton

D. # John Kay

Question Number : 270 Question Id : 59445934808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffT St @1 Snfase R R far mar o1
Options :

A. % Tt fegeit

B. ¥ SR g0

C. % JYard Hime

D. ¥ S $HY

Question Number : 271 Question Id : 59445934809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where was the first cotton mill in India started?
Options :

A. * Hyderabad

B. # Lucknow

C. # Bombay

D. ¢ Calcutta

Question Number : 271 Question Id : 59445934809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd H Ugel HUN fd Hgl & g o
Options :




A. ® BEXETS
B. ¥ TGS
C. % §a3

D. ¢ ®ddhdl

Question Number : 272 Question Id : 59445934810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Tata Iron and Steel Company established?
Options :

A. ¥ 1907

B. # 1915

C. % 1925

D. # 1922

Question Number : 272 Question Id : 59445934810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl TR U8 i HUA! &1 T Hd g3 2
Options :

A. ¥ 1907

B. # 1915

C. % 1925

D. # 1922

Question Number : 273 Question Id : 59445934811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Edmund Cartwright invented the
Options :

A. % Water frame



B. # Cotton gin
C. ¥ Power loom
D. * Flying shuttle

Question Number : 273 Question Id : 59445934811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSHE HICIISC - D1 ISHR |
Options :

A. % IR ThH

B. % Pl for

C. ¥ Ul ¢{H

D. % TRIIgT ¥ed

Question Number : 274 Question Id : 59445934812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who wrote, 'On the Principles of Political Economy and Taxation (1817)'?
Options :

A. # Thomas Malthus

B. ¥ David Ricardo

C. # John Stuart Mill

D. # Jeremy Bentham

Question Number : 274 Question Id : 59445934812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraq, 37 g fiRIey sifw tifcferd goiaH! T daim (1817) forar 82
Options :

A. % YIAY HIRE

B. ¥ sfas Rare!



C. ® S ¥gac fia
D. % SRS~

Question Number : 275 Question Id : 59445934813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who guided and mentored Akbar after Humayun's death?
Options :

A. % Bairam Khan

B. # Dara Shikoh

C. # Abdul Rahim

D. # Shamsuddin Ataga

Question Number : 275 Question Id : 59445934813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 1 Yo & §IE DI 3iheR Pl ANTGRIT 3R TRTef Sar Ut
Options :

A. ¥ RE G

B. % SR Rrplg

C. % 3fsgaI ™

D. % RIS S

Question Number : 276 Question Id : 59445934814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who were labelled as Kumara and Aryaputra?
Options :

A. # ministers to the king

B. # son of God

C. # women of royal blood



D. # prince of royal blood

Question Number : 276 Question Id : 59445934814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frd FUR 3R TG BT Iy fea T oro
Options :

A. % o & forg it

B. % TG BT

C. % gl WHeH &1 Hfgay

D. ¢ XMgl WHEM & AGTHHAR

Question Number : 277 Question Id : 59445934815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ayagar System was followed in which kingdom?
Options :

A. # Mysore

B. ¥ Vijayanagara

C. # Pune

D. ¥ Ahmadnagar

Question Number : 277 Question Id : 59445934815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STITR UYT T T foog Ired | o T
Options :




Question Number : 278 Question Id
Orientation : Vertical

: 59445934816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who among the following had to pay the Jizyah tax?

Options :

A. # children
B. ¥ Hindu men
C. ® women

D. # elderly

Question Number : 278 Question Id
Orientation : Vertical

: 59445934816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

frfeRad & & fob) SIforn SR T YA BT el Y12

Options :

A. % =

B. ¥ feg g2y
C. * nfgand
D. % gl

Question Number : 279 Question Id
Orientation : Vertical

: 59445934817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Who headed the Diwan-i-Insha?
Options :

A. ¥ Dabir-i-Khas

B. # Sadr-i-jahan

C. # Sadr-us-Sadr

D. # Amir-i-Dad

Question Number : 279 Question Id

: 59445934817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fbe dlam-u-gn &1 Aqcd feba
Options :

A. ¢ GIfeR-T- T

B. ¥ Ug-U-STg!

C. ¥ 9g-39-U%

D. ¥ 3fIR-T-qIg

Question Number : 280 Question Id : 59445934818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following means 'duties of the ruler'?
Options :

A. # Mitradharma

B. ¥ Dharmasastra

C. # Prajadharma

D. ¥ Rajadharma

Question Number : 280 Question Id : 59445934818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 forge il =Ie® & wde 9 &2
Options :

A. % Ty

B. ¥ YHRRA

C. % gy

D. ¥ TS

Teaching Methodology
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Group Minimum Duration : 180
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Break time : 0

Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 59445934819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which law of learning by Edward Lee Thorndike says that if the bond created between stimulus and response leads to happiness it will
strengthen the bond?

Options :
A. ¥ Law of Effect

B. # Law of Readiness

C. # Law of Exercise



D. #* Law of Use and Disuse

Question Number : 281 Question Id : 59445934819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

USds ot YFSIRd & SR & fordy o & wet a1 | for afe Iaer ok wfaferar & st s-man ot sieq g &1 3R o STl § df 78
S DI Tl D

Options :

A. ¢ JHTd &1 fad

B. ¥ TORdl &1 AgH

C. % 3y fd

D. % JUTNT 3R SR &1 g\

Question Number : 282 Question Id : 59445934820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The process of development involves expression, abstraction, generalisation and

Options :

A. ¥ Analysis

B. # Participation
C. # Observation

D. #* Trial and error

Question Number : 282 Question Id : 59445934820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &t uftran & sifieafaa, afagar, aemieRor 3R Rl
Options :

A. ¢ fazdyo

B. % FgHIRTAl

C. % 3fdciih1



D. ¥ YO g 3¢

Question Number : 283 Question Id : 59445934821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What refers to the relationship between the cognitive functions to their physical movements?
Options :

A. # Motivational

B. # Aesthetic

C. ¥ Psychomotor

D. % Emotional

Question Number : 283 Question Id : 59445934821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTAS BT o [ATY I1ch RING T & St & A& DI T T Hd DRl 57
Options :

A. % 3RS

B. ¥ Hrad3IRd

C. ¥ DAY

D. ¥ HTHAD

Question Number : 284 Question Id : 59445934822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which language is an idealised variety of a language relating to no specific region?
Options :

A. ¥ Standard language

B. ¥ Home language

C. # Regional Language

D. # Oral Language



Question Number : 284 Question Id : 59445934822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I A T, HTWT BT SHTer=t fafaea & S forelt fafRe &= & weiferd =1t 82
Options :

A. ¥ HHD HINT

B. * HIJ HIYT

C. % &g yreT

D. % ARG U

Question Number : 285 Question Id : 59445934823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of question there is more than a single way to interpret it?
Options :

A. * Contingency Question

B. ¥ Ambiguous Question

C. # Dichotomous Question

D. #* Long-answer Question

Question Number : 285 Question Id : 59445934823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5T UPR & UY T U] AT B P T I 3(fYb dR1Pb 82
Options :

A. ® o WTHd Uy
B. ¢ RO Uy
C. % fgatora= uy
D. ¥ I-IWAUY




Question Number : 286 Question Id : 59445934824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dialect is a dialect emulated by speakers of other dialects.
Options :
A. # Regional
B. # Idiolect
C. ¥ Prestige
D. # Temporal

Question Number : 286 Question Id : 59445934824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUUTHT 3 SUHTHTSHT & TFAT3M GIRT SHIHRUT BT SITell Sl |
Options :
A. % &eflg
B. % 3f&ldiae
C. ¢ UfdgT
D. ¥ HHRI®

Question Number : 287 Question Id : 59445934825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name an analytical tool that uses participatory methodology to facilitate the definition and analysis of gender issues by the communities that are
affected by them.

Options :

A. % Relationship Index

B. # Gender Inequality Index

C. # Gender Dynamics

D. ¥ Gender Relationship Matrix

Question Number : 287 Question Id : 59445934825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IR IUHRUT BT 19 FAZT S 3 THGEME! gRT e el 1 IRUTHT 3R IRy or &1 I o34 & forg HFfieR! Ui &1 SuanT
PRl & ST I THIA B

Options :

A. ¥ &Y JIbih

B. # {7 SIAHT elchich
C. ¥ SIS SAIHTY

D. ¢ S8R RazAfRm Afeay

Question Number : 288 Question Id : 59445934826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Regulation and Prevention of Misuse Act come into force regarding The Pre-natal Diagnostic Techniques that prohibits
determination of sex of the foetus?

Options :
A. % 1993
B. ¥ 1994
C. #1995
D. # 1996

Question Number : 288 Question Id : 59445934826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg af & th-~ed Svife® o & Tey & WO TS U 3ifth fiRgst Tae am] gai st Yo & foifT & feiRor o e o 62
Options :

A. #1993

B. ¥ 1994

C. ¥ 1995

D. # 1996

Question Number : 289 Question Id : 59445934827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which section of the Indian Penal Code, 1860 is the word rape legally defined?
Options :

A. ¥ 375

B. ¥ 376(A)

C. % 228A

D. ® 327(2)

Question Number : 289 Question Id : 59445934827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR gU8 HfedT, 1860 Bt fhd URT & d8d Talh R g B B! U I TR fopar g2
Options :

A. ¥ 375

B. ® 376(A)

C. % 228A

D. # 327(2)

Question Number : 290 Question Id : 59445934828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What allows teachers to indicate the degree or frequency of the behaviours, skills and strategies displayed by the learner?
Options :

A. # Anectodal notes

B. # Rubrics

C. # Checklist

D. # Rating Scales

Question Number : 290 Question Id : 59445934828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % 3Fdceld Ay

B. ¥ 3fgdh

C. ¥ IdPpleRe

D. ¢ T e

Question Number : 291 Question Id : 59445934829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a special type of questionnaire designed to produce scores indicating the intensity and direction (for or against) of a person’s
feelings about an object or event.

Options :

A. * Rating Scale

B. # Motivation Scales
C. ¥ Attitude Scales
D. # Checklist

Question Number : 291 Question Id : 59445934829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ ST

B. ¥ TIf¢d¥H W

C. ¥ Ufege W

D. ¥ dhfe

Question Number : 292 Question Id : 59445934830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What does CCE stands for?

Options :

A. ¥ Continuous and Comprehensive Evaluation
B. # Comprehensive and Continuous Evaluation
C. ¥ Child Centered Education

D. # Child Centered Evaluation

Question Number : 292 Question Id : 59445934830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CCE &1 quf 7o 1 g2

Options :

A. ¥ SN T8 HHIRId SAegUIE
B. % HHIRId TS H-g3n 3aegueH

Question Number : 293 Question Id : 59445934831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which term covers a range of disabilities and health issues, including both congenital and acquired disabilities?
Options :

A. % Handicapped

B. # Mental Disabilities

C. ¥ Physical Disabilities

D. # Partially Disabled

Question Number : 293 Question Id : 59445934831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A. * f[qeai
B. % AMRIP fafwdr

Question Number : 294 Question Id : 59445934832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A child who cannot hear sounds at less than decibels is considered deaf for the purposes of educational placement.
Options :

A. % 95

B. ¥ 90

C. %85

D. # 105

Question Number : 294 Question Id : 59445934832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP g7 off ST I HH IR @ T8l G TobdT, I QAfee RITH & TSI o e JRR JHT AT 6|
Options :

A. * 95

B. ¥ 90

C. %385

D. * 105

Question Number : 295 Question Id : 59445934833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which disability can be classified as congenital and acquired?
Options :

A. % Visual Disability



B. # Hearing Disability
C. ¥ Locomotor Disability
D. #* Neurological Disability

Question Number : 295 Question Id : 59445934833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore Frafradt o) SoTTd iR siftifed & U & arfferd foran o wevdr 82
Options :

A. % ==y (g

B. ¥ 9quy i

C. ¢ Al HIex gt

D. % AR e

Question Number : 296 Question Id : 59445934834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who advanced a theory of intelligence called Group factor theory of intelligence in 1938?
Options :

A. ¥ Louis Leon Thurstone

B. # Edward Lee Thorndike

C. % Robert J. Sternberg

D. # Charles Spearman

Question Number : 296 Question Id : 59445934834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1938 H §f & JHg R Rigid 1S gfa & Rigid ol fasmRa faam
Options :

A. ¢ T ford 4

B. ¥ USds ot YFSIgH




C. ¥ a3 o, T
D. % I TR

Question Number : 297 Question Id : 59445934835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the ability to mentally arrange a series of elements according to increasing or decreasing size, volume, weight or some other

dimensions.
Options :

A. ¥ Decentering
B. ¥ Seriation

C. # Reversibility

D. # Conservation

Question Number : 297 Question Id : 59445934835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, 9 I1YTd SIBR, MY, HR I HB 3 M & IR el D 4Tl bl HHRID U J SHaARYI P bl & 5 |
Options :
A. * fgeR
B. ¥ JRUTM
c. % Yafdfaferdt
D. ¥ Sofd¥H

Question Number : 298 Question Id : 59445934836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage of psychosexual development, the child's erogenous zone is the genital region?
Options :

A. #* Oral stage

B. ¥ Anal Stage

C. ¥ Phallic Stage



D. # Latency Stage

Question Number : 298 Question Id : 59445934836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % R Wl

B. % T ¥l

C. v Bfcad o

D. ¥ dcHl W

Question Number : 299 Question Id : 59445934837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which technique of process-oriented drama approach, the participants create believable and realistic characters that have a vested interest in
the character?

Options :

A. ¥ Mantle of the expert
B. # Facilitation

C. ¥ Role Play

D. # Simulation

Question Number : 299 Question Id : 59445934837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ufoha1-3= ATedh U &t fhy ddb-te |, ufaurh faya-g oik gurdarct usl &1 fAafor evd € fomee ur # fAfgd wrd grar g2
Options :

A. ® Hed 3 g Tagud

B. ¥ ThRifcresM

C.YIAdw




D. % fygazE

Question Number : 300 Question Id : 59445934838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which core technique through linear drama approach the teacher facilitates learning of skills without stopping the action of the lesson?
Options :

A. # Spotlighting and Sharing

B. ¥ Side coaching

C. # Story telling

D. #* Improvision

Question Number : 300 Question Id : 59445934838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for TR dap-iier B, TN e SUNTH & H1e I e UTe foban 1 A famm sieret Rieror o1 m s-ran 82
Options :

A. ¥ Wiearsfdn s g

B. ¥ WIS DIfT

C. % W efem

D. % ZENfARH



